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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty line and gender. In accordance with the
data in the table. answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Boecantage (%) of Po;{ulatmn Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 B2l
B 25 3:56 4:5
C 24 3 B 253
D 19 32 5:3
E 15 5:3 3:2

freafafiaa aifrsn w e i, foad wie - o e (6m) & sm " A9 E a5 % 974 19 &
S o Widerd foreron o e d e fem awn 2 | g8 aiferm 5 Siwgl (220) % SHER T 13 5% & 3

ST 3 T~ e

e | et o i gl (M) 31T ufgensii (F) 1 s
SR R WTAI (%) T ==

iR T & QriE Eeeiksgen
M:F M:F
A 35 5:6 6:7
B 25 35 4:5
C 24 i L 2:3
D 19 3:2 b:3
E 15 5:3 3

What will be the number of females above poverty line in the state ‘D, if it is known that the
population of the state ‘D’ is 8 million?

(1) 3 million
(2)  2.83 million
(3) 2.63 million

(4)  2.43 million

g - ‘D wiEl-En |0 Fw afeensi 1 wen w3 Eefl, afs a2 9@ 2 fF s DT A s
8 fuferm 27

(1) 3 faferm

(2 2.83 fuferm
(3 263 fufema
) 9 43 fufepr

1[Option ID=10001]
2[Option ID=10002]
3[Option ID=10003]
4[Option ID=10004]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty liine and gender. In accordance with the
data in the table. answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Hoemautagm 4y ob Po;?ulatmn Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 B2l
B 25 3:5 4:5
C 24 3 B 253
D 19 32 5:3
E 15 5:3 3:2

Tfafiaa aiaen w e i, foed e - e S (fom) & s | A 9 E @ & ai= T F
St o e foemmn o ant o faemor femn amn 2 ) g6 anfor & sisgl (221) % SHER TS 18 5% & 33

S 1 T A T

e | - A el (M) 3iT ufzensii (F) 1 s
S % YT (%) E R i =

TRl e @ A el T &
M:F M:F
A 35 5:6 6:7
B 25 3:b6 4:5H
C 24 i L 2:3
D 19 3:2 b:3
E 15 5:3 32

If the male population above poverty line for state "C’ iz 1.9 million, then what is the total
population of state ‘C'?

(1) 6.25 million

(2)  5.35 million

(3) 4.85 million

(4) 4.5 million

afe == - i’ fit Tei-tar & FW gEs Ht SEEn 1.9 G @ @ v - 5 Of g sHeen
fopatt 27

(1) 6.25 fafer

(2)  5.35 fifema

(3)  4.85 fafer

(4) 4.5 fafer

1[Option ID=10005]
2[Option ID=10006]
3[Option ID=10007]
4[Option ID=10008]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty liine and gender. In accordance with the
data in the table. answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Hoemautagm 4y ob Po;?ulatmn Below Poverty Line | Above Poverty Line
Below Poverty Line =
M:F M:F
A 35 5:6 B2l
B 25 3:5 4:5
C 24 3 B 253
D 19 32 5:3
E 15 5:3 3:2

fferfiad afasn w em difsn, foad wdisi-ta i S (fm) % 3ar @ A 9 E 9% = 979 7591 6
St o e foemmn o ant o faemor femn amn 2 ) g6 anfor & sisgl (221) % SHER TS 18 5% & 33

S 1 T A T

e | - A el (M) 3iT ufzensii (F) 1 s
S % YT (%) E R i =
TRl e @ A el T &
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
C 24 i L 2:3
D 19 3:2 5:3
E 15 5:3 32

What will be the male population above poverty line for state ‘A’ if the female population
below poverty line for state ‘A’ is 2.1 million?

(1) 2.3 million
(2) 3.3 million
(3) 4.4 million
(4) 6.6 million

e - A A -TE § gl ) S w e, afz o AT i 9 e afeensi
s 2.1 frfer 27

1) 2.3 Ml
(@) 3.3 faferm
(3) 4.4 faferm
(4) 6.6 fifers

1[Option ID=10009]
2[Option ID=10010]
3[Option ID=10011]
4[Option ID=10012]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty liine and gender. In accordance with the
data in the table. answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Hoemautagm 4y ob Po;?ulatmn Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 B2l
B 25 3:5 4:5
C 24 3 B 253
D 19 32 5:3
E 15 5:3 3:2

fferfiad afasn w em difsn, foad wdisi-ta i S (fm) % 3ar @ A 9 E 9% = 979 7591 6
St o e foemmn o ant o faemor femn amn 2 ) g6 anfor & sisgl (221) % SHER TS 18 5% & 33

S 1 T A T

e | - A el (M) 3iT ufzensii (F) 1 s
S % YT (%) E R i =
TRl e @ A el T &
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
C 24 i i 2:3
D 19 3:2 5:3
E 15 5:3 32

If the population of males below poverty line for state ‘B’ is 2.4 million and that for state ‘E’ is
6 million, the total population of states ‘B’ and ‘E’ is in the ratio of

1 2:5

2 2:7

3) 3:7

4) 4:9

afg 153 - B 1 Tl -t | e g 6 sEeEn 2.4 fafea s as - B 4 6 fafama 2 | osa B e
' 1 et s fa siema 4 Fi e

(1 2:5

2 2:7

3) 3:7

(4) 4:9

1[Option ID=10013]
2[Option ID=10014]
3[Option ID=10015]
4[Option ID=10016]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty llﬁne and gender. In accordance with the
data in the table. answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Hoemautagm 4y ob Pop'ulatmn Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 B2l
B 25 3:5 4:5
C 24 3 B 253
D 19 32 5:3
E 15 5:3 3:2

fferfiad afasn w em difsn, foad wdisi-ta i S (fm) % 3ar @ A 9 E 9% = 979 7591 6
S o wicera foreron o st o e fn awn 2 ) ga aiform o siwgl (221) % SHER U9 13 5% & 3W

ST ] T~ e

e | - A gl (M) 3R ufeensi (F) &1 s
STEE T Wi (%) TN =
ettt & T T H
M:F M:F
A 35 5:6 G:°T
B 2b 3:56 4:5
C 24 i 2:3
D 19 3:2 5:3
E 15 5:3 3:2

If the total population of state ‘C’ and state ‘D’ is 5 million and 7 million, respectively, then
what is the difference in the population below poverty line in these two states?

(1)  0.30 million

(2) 0.23 million

(3) 0.13 million

(4) 0.11 million

IR T - O s TsT - D’ fi T sHEEn w5 e i 7 fufeem 8, 9 = 39 s A dish-
@ g e S #§ s 2

(1) 0.50 fuferm

(2) 0.23 faferga
(3) 0.13 firfera
(4 0.11 fuferz

1[Option ID=10017]
2[Option ID=10018]
3[Option ID=10019]
4[Option ID=10020]
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Which of the following are correct regarding the process of learning?

(A) Remembering the information and reproducing it in examination.

(B) Synthesis and organisation of the old and new experiences resulting
in a novel pattern

(C) Carrying out activities which leave permanent effect on the learner.
D) Learning means acquisition, retention and modification of experience.

(E) Preparing only for scoring good marks.

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only
(2) (B), (C) and (D) only
(3) (C). (D) and (E) only
@) (B). (C). (D) and (E) only



wfepmy it wfEn * gey o frefofed § & =9 & @8 20

(A) AR AE BT R I W F GH TG FAT

(B)  YUH 3N T 9l % GYANr 37N Eed o aioy wey i i
(C)  AfFHF WU 99 SIS S HE Tl B30 SGE

(D)  ARr™ = T FEE F AR, Sfaume ok i @

() ool o7= 3Tk 9TH #4  Tore St e

9 fou o fomredt 9 @ Ot I F1 I i
(1) 4 (A), (B) #H (C)

@) 3 (B). () 31¥ (D)

(3) a4 (C). (D) 3 (E)

(4) e (B). (C). (D) #H(E)

1[Option ID=10021]
2[Option ID=10022]
3[Option ID=10023]

4[Option ID=10024]
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What is the full form of MOODLE, an open source Learning Management System (LMS)?
(1) Modular Object Oriented Digital Learning Environment

(2) Modular Object Oriented Dynamic Learning Environment

(3) MOOCs Oriented Digital Learning Environment

(4) Multiple Object Oriented Dynamic Learning Environment

e i sAfe ee yonefi (Ue w wm) g2 (w o S € ver §) 1l s et

(1) aiggen wistde sfm=re fefaea wfn v
(2) wizgger sifeaae sifare e afin varde
(3) W sitfrree fefea afin vammiz

(4) mive siese sifEere s ain vz

1[Option ID=10025]
2[Option ID=10026]
3[Option ID=10027]
4[Option ID=10028]
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Given below are two statements :

Statement [ :  Assesment drives learning.

Statement IT : No feedback is required to be given in formative assessments.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

I S R frg o E
Fod (I): sTher stfamm o Ui e 2
e (ID) : T kel § sfagfe 34 61 stravasa 728 & |

SR e o STt A, 4 T e fasredl 0 3 wed 3w 3 1 e ife

(1) FoH THARIISHIEA |
(2) 9 TR I EHITemd 2 |
(3) Fu IHE B, ST Fd [T 21

(4) e Derd 2, S e ITad 2|

1[Option ID=10029]
2[Option ID=10030]
3[Option ID=10031]
4[Option ID=10032]
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QBID:1501009
According to Dewry. education is a

(1) Social need

(2) Personal need
(3) Status need
(4) Financial need

2l % wrgEn e 3

(1) AT sEvd
(2)  sufdard sragedl
(3) frafa (vaen) stEvEFa
(4) favir savara

1[Option ID=10033]
2[Option ID=10034]
3[Option ID=10035]
4[Option ID=10036]
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Pandit Madan Mohan Malaviya National Mission on Teachers and Teaching has various
components. Which of the following is not a component under this scheme?

(1) Inter University Centres of UGC
(2) Faculty Development Centers (FDCs)
(3) Teaching Learning Centres (TLCs)

(4) School Of Education (SOE)

T1erehi wd fiem W afzd Hed Qe grerdE T aeE & fEias ges § | Fatataa 99 8 @ | g
e i i

(1) g Hi & srafdvafaaner ¥

@ el fasE g (T 9 )
(3) Farem sfenm %z (& va )

(4) Turer g (vm s11d)

1[Option ID=10037]
2[Option ID=10038]
3[Option ID=10039]
4[Option ID=10040]
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Which of the following are the features of case study method?
(A) It is appreciative

(B) It is particularistic

(C) It is descriptive

D) It 1s inductive

(E) It is mechanical

Choose the most appropriate answer from the options given below :
(1) (A), (B). (C) only

(2)  (B). (C). (D) only
(3) (C). (D). (E) only

(4) (A), (D), (E) only




TR () T ugha o feeerd fefefaa § | w0 @ €7
(A) TR TEATHF 2 |
B) = favmams 2
(C) == e 2|
(D) T STTHAHF 2 |

() == =ity 2

drar feu o foskout § & Fo@ 39T 1 999 AN

(1) Fa= (A). (B). (C)
(2 F¢ (B). (C). (D)
(3) Fad (C). (D). (B)

(@) F (4), (D). (E)

1[Option ID=10041]
2[Option ID=10042]
3[Option ID=10043]
4[Option ID=10044]
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Which of the following are remote data collection procedures?
(A) Third party interview

(B) Pop-ups

(C) Data base e-mail

(D) Instant messaging

(E) Panel discussions

Choose the correct answer from the options given below :
@) (A). (B). (C) only
() (B). (C). (D) only
(3) (©). (D). (E) only
(4) (A). (B), (E) only

Foeaferfa & g e s 1 T e o H2
@) oo ey (g e meTeR)

(B)  9m-3m

(C) =@ e

(D) o= HAfm (qemfers H3gF)

(B) e fommm (fim ufer)

3 fiu o e & @ B S o AR

(1) Fa9 (A). (B). (C)

() g (B). (C). (D)

@ ¥ (©). ). ®

(4) #FFa (4), (D). (E)

1[Option ID=10045]
2[Option ID=10046]
3[Option ID=10047]
4[Option ID=10048]
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To perform t-test which of the following softwares can be utilized?

(A) MS Excel

(B) Unix

(C) SPSS

(D)  MS Equations

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (B). (C) and (D) only




(®) (A) and (C) only

(4) (&).(C) and (D) only

(4) . TE. TE

(B) g

() whtww

(D) UH. TE. SHTH

Fr=r fau mu foreredt § & Tt I w1 =am i -

(1) FaA (A) 30 (B)
@ FFw (B), (C) 3 (D)
(3) e (A) 3R (C)
(@) FTE (A). (C) 3 D)

1[Option ID=10049]
2[Option ID=10050]
3[Option ID=10051]
4[Option ID=10052]

F-wlieor =0 3g Frafafes & & S5 o afves ygaa fen s oawa 27
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Match List I with List IT

List1
Types of Research
(A) Cohort analysis @
(B) Cultivation analysis (1)

(C) Factor analysis

(D) Canonical analysis

Choose the correct answer from the options given below :
1) (A)-D. B)-ID. (C)-ILD)., D)-IV)
(2 (A)-1ID. (B)-(IID), (C)-AV). (D)-(D)
3) (A)-IV). (B)-@. (C)-aD). (D)-IIL)
4) (A0, B)(IM). (C)-IV). D)D)

g1 % arg g=i-11 1 e Hifi

=1
MY % YT
(A) =g fErwerm

(B) ey (Hehfa) fagemo

(C) i fovasm
(D) iR fereon
2 fim o frwent & | 8 R w1 T Hifw

1) (A)-D. (B)-II). (C)-(I1IL). (D)-AV)

(2)  (A)-ID. (B)-(IID). (C)-AV). D)D)
(3) (A)-IV). (B)-D). (C)-I). (D)-(IIT)
(4)  (A)-(T). (B)(III), (C)-(IV). (D)IT)

1[Option ID=10053]
2[Option ID=10054]
3[Option ID=10055]
4[Option ID=10056]

List IT

Research Characteristic

Study of a specific population as it

undergoes change over time.

Simultaneous analysis of two or more
data tables.

(ITIT) Analysis of perceptions of social world.

(IV) A multivariate statistical test used for
data reduction.

FA-11
vive 1 foiremi

(I) T9F % 61y FEadt g8, U 9y SEe &
AT

(ID & =1 e SAiwer grivEl +1 wH-91y
Terrewu

(1) =r=fser ST s Sea&or <1 fagerso
(IV) 3Aihgl % TIHU og Tgat HifeTha T
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The measures of inter-coder reliability are employed in research related to

(1) Discourse analysis

(2) Narrative analysis

(3) Path analysis

(4) Content analysis

St T % FRdS & W = § wefa s § g
(1) Fomsd fagemr

@) A fazerm

(3) 19 fgem

(4)  foma—asg e

1[Option ID=10057]
2[Option ID=10058]
3[Option ID=10059]
4[Option ID=10060]
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Transforming ideas. thoughts and messages into verbal and non-verbal signs and symbols is
known as

(1) Channelisation

(2) Controlled communication
(3) Encoding

(4) Decoding

aruris, T 3 w2 = difiaes vd fe-difiae il § earar e am 8 s s 2 ?
(1) guffF (AHTEETE)
(2)  fofara |

(3) FE

4) fagz

1[Option ID=10061]
2[Option ID=10062]
3[Option ID=10063]
4[Option ID=10064]
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Which of the following are the effects of oral communication?
(A) Fragmented information

(B) Perzonal connect

(C) Feed back

(D)  Objectivity

(E)  Absence of interpretation

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (A). (B) and (C) only
(3) (B)and (C) only
(4) (C). (D) and (E) only
frferiiaa % =14 & difiges S & qura 77
(&) H=HIEF A
B)  JafFe day
(©  wfigfe (Fr=ir)
© D

(E) =40 %1 59M
el faw o e | 3 W I = i
(1) Fad (@A) (B

(2) Fae (A), (B) 31 (C)

(3) 4 (B) 3V (C)
(4) Fad (C), (D) W (E)

1[Option ID=10065]
2[Option ID=10066]
3[Option ID=10067]
4[Option ID=10068]
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Given below are two statements :

Statement I: The psychological obstacle in communication can be seen when the receiver
fails to refer language to reality and experience.

Statement IT: The stereotypes held by one also contribute to the failure of language to
reflect social reality.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement [ is true but Statement II is false

(4) Statement I is false but Statement IT is true

Fo (1) : TR H T ST a5 S S Tkt 8, 99 Tguehal aumsl U 9 i AT 1 He 2
I et @At 2

Fo (1) : Tt =affa & ®e v amrfass genedar =t afafafag = 8w i freea 3 o Tmee F=@
E

Ilied FUA % e °, T Ry e fepedi § 8 @ 3w = = i
(1) e T o I EHT 4w & |

(2) A I3 I EHT si8ea 8 |

(3) FUA 10 8, WIfF Fod [ 2|

(4) A I HEA 2, elfdhd s IT a2

1[Option ID=10069]
2[Option ID=10070]
3[Option ID=10071]
4[Option ID=10072]
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Tdentify the correct sequence of the elements of communication set by Aristotle:
(A) Speech
(B) Speaker
(C) Audience
(D) Occasion
(E) Effect
Choose the correct answer from the options given below :
1) (A). (D). (B). (©). (B
(2) (D). (B). (A). (E). (C)
(3) (C). (D). (A). (B). (B)
4) (B). (A). (D). (). (E}

A Z i e o T % we F0 ) TeaH i

(A) W
B) =
(C) =il
(D)
(E) waa

= faw ru fespet | 4 wefl 39 1 = il
1) (A), (D). (B). (C). (E)

(2) (D). (B). (A). (E). (C)
(3) (C). (D). (A). (E). (B)
(4) (B). (A), (D). (C). (E)

1[Option ID=10073]
2[Option ID=10074]
3[Option ID=10075]
4[Option ID=10076]
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Match List T with List T1 :

List T List IT
Types of Communieation Effects Source of Service
(A) Instrumental (I)  Author's observation
(B) Prestige (II) A range of special requests
(C) Reinforcement (IIT) Sentimental fiction
(D) Aesthetic (IV) Factual reports

Choose the correct answer from the options given below:

1) (A)-ID. (B)-IIL). (C)-IV). (D)D)
(2) (A)-II). (B)-IV). (C)-ID). (D)-(I)
(3) (4)-@V). (B)-(IID). (C)-(ID). (D)-D)
@ (A)-D. B)-0V). (C)-ID. D)-II)

A1 1% | = I = firens fifao )

A 1 e 11
HEOL 2 YHTE o TER 1 1 HiA
(A) #HETF @) o 1 FaeFA
B) e @D fasm sl i vk =
(C) Y (AI) rEyvi e —afesg
D) HETT aAV) A fraid

Tou o fershe 4wl 3 1 =g il

1) (A)-(ID). B)-II). (C)-(IV). (D)-I)
(2) (A)-ID). (B)-(IV). (C)-(ID. (D)-M
3)  (A)-(IV). (B)-ID), (C)-L). (D)-(D
4 (A)-D, B-IV), (C)-(ID). (D)-(IIT)

1[Option ID=10077]
2[Option ID=10078]
3[Option ID=10079]
4[Option ID=10080]
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Find the wrong term in the series given below:

16, 22, 30. 45. 52. 66. .......
(1) 22

(2) 30

(3) 66

@

el 1 7 #fvEen H TTerd Ue 1 U1 ey ?
16, 22, 30, 45, 52, 686, .......
1) 22
(2) 30
(3) 66
4) 45

1[Option ID=10081]
2[Option ID=10082]
3[Option ID=10083]
4[Option ID=10084]
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If the word EARTH be written as QPMZS in coded form, how can the word HEART be
written in the same code?
(1) SPMZQ

(2) SQMPZ




3 spumgz

(4) SQPMZ

4f2 we2 - EARTH &1 %2 594 QPMZS fovan o @ &l HEART =1 341 %2 H o Wt feran sn |k
&

(1) SPMZQ

(2) SQMPZ

(3) SPMQZ

(4) SQPMZ

1[Option ID=10085]
2[Option ID=10086]
3[Option ID=10087]
4[Option ID=10088]

Sl. No.23
QBID:1501023

(0.35)" — (0.03)°

R upto 3 decimal places:

Compute the value of

(1) 0.064
(2) 0.64
(3) 0.006

(4) 0.694

wamﬁméﬁfmnﬁmmm,l

(1) 0.064
(2) 0.64

(3) 0.006
(4) 0.694

1[Option ID=10089]
2[Option ID=10090]
3[Option ID=10091]
4[Option ID=10092]

Sl. No.24
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10 chairs and 5 tables were purchased for Rs. 17,500. If the average cost of a chair is

Rs.1000, What is the average cost of a table?
(1) Rs. 1.400
(2) Rs.1.200

(3) Rs. 1,100

(4) Rs. 1.500

10 FfEat s 5 &= & ® 17,500 § @igr 71| afg v i i fma Fiwa 1000 T B; 99 wF A At

Frma sitad 1 27
(1) % 1400
(2) % 1,200
(3) % 1100
(4) % 1,500

1[Option ID=10093]
2[Option ID=10094]
3[Option ID=10095]
4[Option ID=10096]

Sl. No.25

QBID:1501025
An Aeroplane started 30 minutes later than the scheduled time from a place 1500 km
away from its destination. To reach the destination at the scheduled time the pilot needed

to increase the speed by 250 km/hr. What was the speed of the Aeroplane during journey?
(in knmv/hr).
(1) 750

(2) 1000

3)




800

(4) 900

UF FETE S F 99 Taed @ 1500 R Fi g w et @ e fuife smm @ 3o e A i @
3T TRy R | o Taen w fife oem @ wdee 2g e @ ovfa 8 250 fEf. fs g B @ g gy
FAT TETIE gl | AT % R FETE e b e et oft (R feer #) 7

(1) 750
(2) 1000
(3) 800
(4) 900

1[Option ID=10097]
2[Option ID=10098]
3[Option ID=10099]
4[Option ID=10100]
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In classical square of opposition if ‘No S is P’ is given as false then which of the following
could be immediately inferred from it?

(A) ‘Some S is not P’ is true

(B) ‘All S is P’ 1s undetermined

(C) ‘Some S 1s not P’ is undetermined

(D)  ‘Some Sis P’ is true

(E) ‘Some S 1s not P’ is false

Choose the correct answer from the options given below :

(1) (B). (D) and (E) only
(2) (A). (B) and (D) only
(3) (A}). (D) and (E) only

(4) (B). (C)and (D) only
forafa & Fenfahm =i § ofy +E S, Pl 27, s/ma & w9 d fomn @ a9 fr=fafiad 3 @ 399 #8-m @9

I T STAH T S A 2

A ‘FBS,PTRY, "=

B) ‘off s, P, stfuffa 21
(©) ‘F98,PTE, afwifm 21
D) ‘FBS. P, @R

(E) ‘F3S,PTAY, Tom

4 fou o foemedt & € | I w1 = HifC
() ¥ (B). (D) 31 (B)
(2) & (A), (B) 3 (D)
(@) Fa (A), (D) 3 (E)
(@) a9 (B), (C) 30 (D)

1[Option ID=10101]
2[Option ID=10102]
3[Option ID=10103]
4[Option ID=10104]
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Which Fallacy is committed in the following argument?
“Smooth Sailing 1s all that's there to LIFE with ABC Insurance Policy.”

(1) The Appeal to Emotion

(2) The Appeal to Pity

(3) The Appeal to Force

(4) Irrelevant Conclusion

Frerfetiaa gfd 4 wia-m 2 = 27

0 5ft i s e 2 me e g Ea e
(1)  WEH1 fer sz

(2) =% fov ame

(3) o % foru s

(4) IR e

1[Option ID=10105]
2[Option ID=10106]
3[Option ID=10107]
4[Option ID=10108]
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Given below are two statements :

To draw an analogy between two or more entities is to indicate one or more
respects in which they are similar.

Statement I :

Statement Il : Everry analogical inference proceeds from the similarity of two or more
things in one or more respects to the similarity of those things in some

further respect.
In the light of the above statements, choose the most appropriate answer from the options
given below:
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

f= 31 %o fom Mo # -

Fd (1) : 2 a1 A dearstt & HeF ATEYAl F AT TF 1 SAUF dggH § IR aEar i T
3 a7

FeH (1) : TeF HIGTINeish S UF I1 354 I veget § o1 A 3ud iy axgett i wuEa o A
FEqa & Tt sTfaftea Tae it Famar 6 3 B g 21

IPUF YA el 4, F= g m et § @ v suge s 1 5w A
(1) F9 I I ZHTgE 2

(2) FoA TR IEHITed 2 |

(3) FoF LHE 2, Al F2d LT 2 |

(4) U Treld 2, elfo hoq TTad 21

1[Option ID=10109]
2[Option ID=10110]
3[Option ID=10111]
4[Option ID=10112]
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Given below are two statements :

Statement I: For the Classical Indian thinkers. inference (anumina) means only

syllogistic inference.
Statement IT: Unlike Aristotelian Syllogism, anumana involves four steps instead of three.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

)




Both Statement I and Statement II are false
(3) Statement I is true but Statement I is false

(4) Statement I is false but Statement II is true

=1 31 o feu Mo 2

o () Feriaeht Wi foaert o foru smm =1 7o et =Ameg 3HE 8 2
Fd (1) :  SFEqEE =mar @ fuda sgue § €9 % a9/ =9r = wive 29 2 |

3T FUA o AT o, A fou T faement ® @ w8 S = A
(1) FFEIsHIIEHEEAE |

(2) e L3 11 3F1 srmea d |

(3) A THa 2, cifefd oM IT 3w 2|

(@) A T A6 2, offebd Fod [THEE 7 |

1[Option ID=10113]
2[Option ID=10114]
3[Option ID=10115]
4[Option ID=10116]
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Which of the following means of knowledge involves positing of something for making any

unit of cognition self-complete?
(1) Comparizon (Upamana)

(2) Postulation (Arthapatti)

(3) Non-Cognition (Anupalabdhi)

(4) Verbal Testimony (Sabda)

T % Fraffan @ § 3 e d e B 9 of S B i B w9 3 9 T o R
g 8 7

(1) 3I9HH

@ HgMHfa

(3) HTARH

() e

1[Option ID=10117]
2[Option ID=10118]
3[Option ID=10119]
4[Option ID=10120]
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With respect to data communication. which of the following statements is true about fibre
optic cable?

(1) Fibre optic cable carries data in pulses of light and iz prone to interference.
(2) Fibre optic cable carries data as electronie signals and 1s not prone to interference.
(3) Fibre optic cable carries data as electronic signals and is prone to interference.

(4) Fibre optic cable earries data in pulses of light and is not prone to interference.
ST (HAfehgT) TN % Ged #, Hgs il Haet & an § F=feifga § & w9 -91 w7 ad 27
() g AT herel T T § TS & e # R 7% = 39w 2|

) g AT heed godela Gehdeal & &9 U ke o STa1 2 31 I8 A9 3@ 2 |

() HIgeR T helel FoAdgi b Gehaehl & &9 U 3iiehe o STal 2 R T2 =419 3@ 2 |

@) R HANF Hae TH¥ ¥98 § 3AThs o A1 2 IR Tg AT I9E Tl ¢ |

1[Option ID=10121]
2[Option ID=10122]
3[Option ID=10123]
4[Option ID=10124]
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Arrange the following computer memory types|from fastest to slowest speed:

(A4
(B)
(©)
(D)
(E)

Hard Disk

Main Memory (RAM)
CD-ROM

CPU Registers

Cache Memory

Choose the correct answer from the options given below :

@) (D). (E). (A). (B). (C)

(2) (A). (C), B). D). (F)
(3) (E). D). (B). (A). (O)
4) (D). (E). (B). (A). (C)

Fog wfa & ffefad vl =1 diswm & genfa & w4 fafew

) T e

(B)  7EE Ff (M T )

() #H&H-amanm

(D) g e

(B) R wf (1 qu)

Hr= fow mu fasredt # @ wE S = =EA i

@) (D). (E). (A). (B). (O

@) (A). (). B). D). (E)

(3) (E). (D). (B). (A). (C)

4 (@D). (E). B). (A). (©)

1[Option ID=10125]
2[Option ID=10126]
3[Option ID=10127]
4[Option ID=10128]
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Which of the following statements about malware are true?

A

®

A Trojan Horse is malware disguised as legitimate software.

A Virus inserts itself into another program. It runs and spreads itself when the

program is opened.

A worm is similar to a virus except that it does not need a program in order to run. It

spreads by itself.,

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (A)and (C) only

(3) (B)and (C) only

(4) (A). (B) and (C)

Aieaat & e 1 frefofiad oAl 4 9 =9 91 591 w8 27

(&)

(B)

©

215 4 U A @ Sl 94 AR & e | g 2 |

T foreft gt T H W@ g S @1 9 Wm gien S @l 98 9 9o St e
a2 |

FM TF AT F AHH Fa1 ¢ | T AR G TR A @ sue 9en % faw wimm i smavsa
TE Bl | TR T e 2 |

= feu o et § © 98 I % = hifdw -



a ;
F= (A) #W (B)

(2) === (A) #0 ()

(3) = (B) 3 (C)

(4)  F=e (A). (B) 31 (C)

1[Option ID=10129]
2[Option ID=10130]
3[Option ID=10131]
4[Option ID=10132]
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Match List I with List IT

ListI List IT
(File) (File Format)
(A) Video I xlsx
(B) Podcast (In .jpg
(C) Photograph (IIT) .mp4
(D) Spreadsheet IV) .mp3

Choose the correct answer from the options given below :
1) (A)-(I1D), (B)-(1D). (C)-(IV), (D)-(I)
(2) (A)-ID. (B)-AV). (C)-III}. (D)-(D)
(3) (A)-(IID). B)-IV), (C)-aD. (D)-(D)

(4) (A)-(D), (B)-IV). (C)-(IT), (D)-(IIT)

-1 = g1 1 T it -

i I T 1T
&) ditem (I) TFAvETHT
(B) iR (I fr
(C) F2mTF (IID) T4
(D) TreeE (IV) w3
A fou T faeei 5 @ wd s = i

@ (A)-(ILD, (B)-1D), (C)-AV), (D)-(D)
@ (A)-(1D), (B)-(AV), (C)-(11D), (D)-(I)
@ (A)-(1D), (B)-(IV), (C)-(1D), (D)-(D)
@ (A)-(D), (B)-(IV), (O)-(D), (D)-(IIT)

1[Option ID=10133]
2[Option ID=10134]
3[Option ID=10135]
4[Option ID=10136]
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In the following spreadsheet, which of the formulae below would be best for cell C2? Note
that the formula must be able to be copied down from C2 to both C3 and C4.

A B C

1)

Lunch Cost

Dinner Cost

Total Cost

(Rs.) (Rs.) (Rs.)
15 27 42
23 35 58
10 35 45

=A32 + 3B2




(2) —3A32+B2
3) =3A%2+ IB32

(4) =3$A2+3B2

fr=ferfian faream e (Siesfie) 8, fr=fefaa 8 #0-a @ () & @ 2 % fom ey @m ? 9 #®
fop widen, € 2@ € 3 sl A 4 2HT § F @ F@H |

T Eil Ll
' rrw:msﬂm Tfy W= @ Fel AR
®) &) &)
2 15 27 42
3 23 35 58
1 10 35 45
1 =TU$2 + §i2
2 = $ug2 + 2
@) = $T$2 + $A1$2
(@ = $12 + $&2

1[Option ID=10137]
2[Option ID=10138]
3[Option ID=10139]
4[Option ID=10140]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  Soil Pollution due to detergents affects the root growth of the plants and

depresses the growth of soil micro-organisms.

Reason (R) : Presence of detergents in soil makes the soil more acidic.

In the light of the above statements. choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 31 e feu o B uw stfimrem (AssertionA)%Wﬁ%ﬁiﬁ%ﬁlwmm (Reason R) % &9

H:

e (A) - srrsial (feewsie) % wror gu g wgwo & diai & g faem W gwe gga @ sk
Ha1 1 [e Sl ok fas w o R g R

FAU (R) : o1 ¥ feersie i sufeufa gar it aiftre sreefia s 3o 21

TRIT FH 3 el §, T R Ty freredt § § T 0 IR F =9 HIR -
@ (A) 3R (R) ZF1 & E $ (R), (A) F 7 = 2

@ (A) 3R (R) I w9 &, Af (R), (A) i we wmen 77 2 )

@ (A) T 2, S (R) &6 7 21

@ (A) Td 7 2, dfF (R) = 21



1[Option ID=10141]
2[Option ID=10142]
3[Option ID=10143]
4[Option ID=10144]
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Examples of Persistant Organic Pollutants (POPs) are:

(A) Dioxins

(B) PAN
() VOC
(D) FURANS
(E) PCB

Choose the correct answer from the options given below :
1) (A). (D). (E) only
(2) (A). (B). (D) only

(3) (B). (C). (E) only
(4) (C). (D). (E) only

Had S 9guehi (POPs) & 30 # -

(A) e

(B) T (PAN)

(©) =t =9 =i (VOC)

D) PR

(E) didish

= fou o fremedt ® @ Wt I w1 =94 Rifdw
@ F (A), (D), (B)
@ Faa (A), (B), (D)

@ e (B), (C), ()
) & (C), (D), (E)

5

(

1[Option ID=10145]
2[Option ID=10146]
3[Option ID=10147]
4[Option ID=10148]
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In the first commitment period of Kyoto Protocol. how many green house gases were covered
for reducing their emissions?

1) 4
(2) 3
3) 6

@ 7

Tl iethiel s woH Wfdegar saty | frad M9 26w 6 % Ieasq & #H i % oy smafa R

T AT

1) 4
@ 5
3 6
@ 7

1[Option ID=10149]
2[Option ID=10150]
3[Option ID=10151]
4[Option ID=10152]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Green hydrogen production will be critical for world community to achieve
carbon neutrality by the vear 2050.

Reason (R) : The energy content of hydrogen gas is much higher than that of coal.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

9 2 %uw g Mo E : u AfuEed (Assertion A) % ®9 § fiflad @ 1 g@0 36 FR (Reason R) &

S

HAfrFaR (A) fova ggEm@ % I 2050 9% FeH e 9T w2 2RE EEsieE w1 S
Forfares 2

FE (R) : TESISA T Y Sl G R I e Sga A 2 2 |

ITUTH U o s |, A9 Ry 1 feredt @ @t 3w =em i

@ (A) 3 (R) 3 w1 § 3R (R), (A) Fi 7 =men 71

@ (A) 3 (R) 2F a9 3, AfE (R), (A) 1 Tet =amen 78 2|
@ (A) & 2, Al (R) s/ 76 21

@ (A) 39 2, afF (R) 73 21

1[Option ID=10153]
2[Option ID=10154]
3[Option ID=10155]
4[Option ID=10156]
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Since the start of industrial revolution. the acidity of ocean’s surface water has

(1) increased by ~10%
(2) remained constant
(3) decreased by ~25%

(4) increased by ~30%
afrerifies shifa 6t YT ¥ T F Had 9 I -
@ ~10% 58 Tff 7

@ HyEd g

(3 ~25% FH & T 2

@) ~30% =g T &

1[Option ID=10157]
2[Option ID=10158]
3[Option ID=10159]
4[Option ID=10160]
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A Government University with Institute of Eminence status can have foreign faculty upto a

maximum of

(1)  20% of total faculty strength

(2) 25% of total faculty strength
(3) 30% of total faculty strength

(4) 35% of total faculty strength

ey wlafaa geum h feafa um sraehia favataeem § stieran fopae foasf e @@ <7 geha 87




Y g fgl H @ F 20%
@ Fa et i gem # 25%
@ F et 6 F= F= 30%
@ F et 6 @Em #1 35%

1[Option ID=10161]
2[Option ID=10162]
3[Option ID=10163]
4[Option ID=10164]
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Credits earned by a student and stored in Academic Bank of Credit. after the date of earning

such credits, will have validity upto a maximum of

(1) 7 years
(2) 10 years
(3) 12 years

(4) 15 years

forelt o gro 1A ofi srprefiver fee < o v e, w0 F Ty % gv=m, sireran e 7% %

ferr 3w & e

W 739 % faw
@ 10499 % g
@ 1299 % fou
@ 153§ % for

1[Option ID=10165]
2[Option ID=10166]
3[Option ID=10167]
4[Option ID=10168]
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Identify the statutory bodies of a University:
(A) Board of studies

(B)  Academic Council
(C) Executive Counecil
D) Finance Committee

(E) University Court

Choose the correct answer from the options given below :
1) (A). (B). (C), (D) only

(2) (A). (C) only

(3) (A). (C). (E) only

(4) (B). (C). (D). (E) only

fervafeener & wifafus frermi # fafa fifsw
(A) o Hed

(B) i uforg

(C) i uftg

D) o

(E) Frafmem ¢

Fr= fou 7o foremet © @ wdt 3o o w9 Fifdw




Q)

F (A), (B), (0), (D)
@ Fad (A), (€)

@ I (A), (0), (E)

@ A (B), (C), (D), (E)

1[Option ID=10169]
2[Option ID=10170]
3[Option ID=10171]
4[Option ID=10172]
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Environmental education must be integral to all academic programmes as students need to

be mainly sensitized about
(1) its interdisciplinary and multidisciplinary nature

() 1its emergence as a specialized field
3) relationship between culture and environment

@) environmental degradation and its consequences for life on earth

il frer sreavas w0 @ o dfas FrlE w e s e ekt e smi M A s e E

TEIq: ST ST 1 Heb:

() et sl it sglEt vk

@ 3EH e & % wv A anfawla

() TEH ST TG F HeT Tag

@ Tl Fier o gedt W sfeT & foe soe wiom

1[Option ID=10173]
2[Option ID=10174]
3[Option ID=10175]
4[Option ID=10176]
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‘How could a lamp, which does not keep on burning, light another lamp?’ This statement is
from the book titled ‘Siksha (learning). Who among the following is the author of this book?
(1) Rabindranath Tagore
(2) BSarvapalli Radhakrishnan
(3) Jyoti Phule
(4) Savitribai Phule

‘®iE duw 9 g TE T @, O o diuw @ R e @ehar 270 9% Fud fren () sl
7w | 2| Fefafas 3 3 = s % ows w8 #0

) Ty
) FeATEE! TETHOH
@ e F

@ e g

1[Option ID=10177]
2[Option ID=10178]
3[Option ID=10179]
4[Option ID=10180]
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Read the following passage and answer the guestions :

An essential function of hegemony involves convincing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because. on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anyone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideologies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony is through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant helief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideology survives. When such consent fails, however, the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic 1deological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.

Frererfan ey = U8 3R T SN 46 § 50 % % I g

AT & UF AGYIF FH H UH A1 Faedl & Afeqe & ufd a9 3 & fore art &1 sved
FAT MHA 2, T o5et § 3961 0 TE Hwdt 2 | HHie g I 39 fGEnamwet = iy @ 39wl
fogre 7t #a, St iy wEl W et wueE et ¥, i 7 R T W anfuue sme 3
T HEHd B < T B & | §9 HUF  dohiel YT el g B | s i safdq w6 39 wehn i sgeeen & ufd
TEqd BT &7 e gekashil fHenyw amie w9 8 wifFduelt aga 61 geeret ok el i sfafstim
Fdt 2, 39 foemamen ¥ ygw @ enfimarerdt = w F o 39 v atfafem gem 3 R fsivar o
AT 2 | Hi9id Tgl 1 48 f&q o uwonedi #i en w1 # ft 21 o= qfis 9w A d g
w9 I wfFqunel! F9g 39k Afvash g s et e & ol & w9 8§ e #9 & o w6 ww
% o 1 g % W % "ee ¢ emumed #i =R #E o @ w9t 3 3 flt a3 amwg
TR & | 39 T TEd Genfd Tk Sl % ¥9 # wefifa e s @ wife ur e w9 8 st R
a1 IH WA A S| e & wfd w=a: Fpd denlt F U 35 % qrem # A4 9l | qEen o
Tt 2 | Rt 3w 1 == foren womet 3 oo sk ST wesk faenfii & wetam et ° 9 @ wd 2
T Fecasmil uren gardt @ R wics & el ol v it Bien =0 yram s =g ) g\ gwon
T g9 2 % STaeg 9 36 TR o od 2 N a8 Femam s w2 ) S, 99 59 ven i meafa
fopa 2 St @ o e it suRon T Fd @ Rre R gt femum wfiet Rt f
sk % " | 39 fakerar i U4 & fog wfia 2t €)1 59 e i fufa § 2z v 2 7 adwt
AT T R SR aRon i STTerEa w0l 3% veEd afae § whiga w0 o e
TR 1 Tofua et | aftmeeEy sftrerErdt yonfert st ot e T At | 3w g % s
i -3 A ufkn & wemm A Faa w9 agadt @ | oniiueETd d=iies e i ®9 3 i
foamemastt & whimr o fafEsm it #+ off 7 Tom e el s % weam g e s adt €

Despite hegemony, why marginalised people do not protest?
(1) Because they are too weak.

(2) They are not bothered being dominated.
(3) Priviledged groups forcefully suppress them.

(4) Because of the promise that the dominant ideclogy 1s In their best interest.
T @ T % amEeg iy w9 A e 20

) FEIH T FAATF FAR 2 |
(2)3%N®Wﬁ@%aﬁﬁmqﬁ%l

@ R -TH g s 3 2 w0 E |
@) 3H T o H0l § TF aeEni few a3 wae fza d 2

1[Option ID=10181]
2[Option ID=10182]
3[Option ID=10183]
4[Option ID=10184]
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Read the following passage and answer the guestions :

An essential function of hegemony involves convincing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because. on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anyone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideologies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony is through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant helief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideology survives. When such consent fails, however, the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic 1deological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.
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What is the acceptance of domination called?
(1) Hegemony
(2)  Marginalisation
(3) Spontaneous consent

(4) Reflective desire
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Read the following passage and answer the guestions :

An essential function of hegemony involves convincing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because. on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anyone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideologies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony is through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant helief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideology survives. When such consent fails, however, the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic 1deological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.
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The dominant ideclogy survives because of its
(1) Social Power
(2) Flexible appropriation

(3) Beneficial features

(4) Ideological components
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Read the following passage and answer the guestions :

An essential function of hegemony involves convincing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because. on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anyone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideologies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony is through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant helief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideology survives. When such consent fails, however, the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic 1deological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.
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The dominant cultural institutions have the power to

(A) Absorb challenges

(B) Maintain relations with social groups
(C) Destroy opposition

(D)  Re-establish the preious norms

Choose the most appropriate answer from the options given below :
(1) (A)and (B) only
(2) (B). and (C) only
(3) (C)and (D) only

(4) (A) and (D) only
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Read the following passage and answer the guestions :

An essential function of hegemony involves convincing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because. on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anyone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony is through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however, the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between soclal group.
Hegemonic ideoclogical structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.
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The passage explains

(1) The forced absorption of the marginalized into the mainstream
(2) The establishment of the ideology of the marginalised
(3) The defects of spontaneous consent

4 The survival of dominant ideology against the challenges
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Sculpture of dance was available in the following pre-historie site :

(1) Harappa-Mohenjadaro




(@) Kalibonga

(3) Chandraketugarh

(4) Bhimbhetka

Fraferfiaa srifaerties wua & Jea Fdt g8 wfom wm g

(1)  geq-dETaEs &

(2)  FEfEm &
(3) ghgre @
(4)  fimsgm &

1[Option ID=15001]
2[Option ID=15002]
3[Option ID=15003]
4[Option ID=15004]

Sl. No.52
QBID:651002

Choose the ancient one of the following :
(1)  Dance in the Vedic Period
(2)  Dance in the Puranic Period

(3) Dance in the Mughal Period

(4) Dancein the Literature
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Select the oldest Dance painting of India :

(1) Bhimbhetka

(2) Ajanta
@) Kangra
4) Jaur

e W= 3 -Teml g i fw = =33 i -
(1) s
(2) ==
(3) =rmEr
(4) ===

1[Option ID=15009]
2[Option ID=15010]
3[Option ID=15011]
4[Option ID=15012]

Sl. No.54
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State the name of the site of oldest dancing sculpture :
(1)  Chandraketugarh
(2) Mahavalipuram
(3) Shyamraya
(4) Lingaraja
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Denote the earliest literature of dance :

(1) Tolkappiyam

(2)  Harivamsha Purana
(3) Kumar Sambhavam

(4) Mrichhakatika
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Select the oldest text of Performing Arts :
(1)  Natyashastra

(2)  Svaramela-Kalanidhi

(3) Sangeet Ratnakara

(4) Brihaddeshi
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The famous dance form of Sri Lanka :
(1) Kandy
(2) Mepachham

(3) Panthi

(4) Tamasha
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Which one is associated with Natyashastra?
(1) Samanyabhinaya
(2)  Buddhacharita
3) Bhavabhuti

(4) Usha
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Who is closely associate with ‘Rasasutra™?
(1)  Matsya Purana
(2) Sthayi Bhava

(3) Bhattalollata
(4) Abanindranath Tagore
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Select the part of Purvaranga :

(1) Antarjabanika
(2) Vachika
(3) Natyadharmi
(4) Dasharupaka
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Which one is associated with Rangamancha?
(1)  Tryasra

(2) Alolita

3) Alokita
(4) Vishakh
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Select the regional theatrical practice of Kerala :




1) Yakshagana
(2) Kudiyattam
(3) Bhagavatamela
(4) Bhavai
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Select the name of the exponent of Gaudiya Nritya :
(1)  Samyukta Pamgrahi

(2) Mahua Mukherjee
(3) Rukmini Devi Arundel

(4) Vallathol Narayanan Menon
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Birju Mahara) was the choreographer in the film :
(1) Shatranj Ke Khiladi by Satyajit Ray
(2) dJhanak Jhanak Payel Baje by V. Shantaram
(3) Sagara Sangamam by K. Vishwanatha

(4) Gupi Gayen Bagha Bayen by Satyajit Ray
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Rasa of Bharata contains :
(1) Nine Rasas
(2) Five Rasas

(3) Ten Rasas

(4) Eight Rasas
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Which among the followings is a folk theatre form of North India?

(1) Gambhira

(2) Tamasha

(3) Bhand Pathar

(4) Prahallad
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The most important theatrical light-device 1s
(1)  Spot light

(2)  Fresnel

3) Flood Light

(4) Strobe Light
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‘Kundhei puppertry art’ belongs to which of the following states?
(1)  West Bengal
(2) Odisha

3) Kerala

(4) Karnataka
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Who among the followings played a little-role in Hamlet at the Barbican theatre in 20157
(1)  Daniel
(2) Benedict Cumberbatch
(3) Leonardo Di-Caprio
(4) Jared Leto
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Who among the following is well-known Mime artist?

(1) Shahabuddin Haque
(2) Swadesh Basu

3) Niranjan Goswami
(4) Amitava Ghosh
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3)  veifisr s sEm
(4) TEEE IR T HEAOS

1[Option ID=150771]
2[Option ID=15078]
3[Option ID=15079]
4[Option ID=15080]

Sl. No.71

(1)

)

3)

4)

QBID:651021

Mumming play, algo called mummeus’ play, traditional dramatic entertainment of

(1) England and Northern Ireland
(2) Brazil and Guyana

(3) Florida and Bhamas

(4) Lancashire and West Morland

A v, 5 A = F 9 F it T A 2, EftEn § § Fw i TR s 27

Feivs iR Al AREREg
Frfter 3 T
ST S g

1[Option ID=15081]
2[Option ID=15082]
3[Option ID=15083]
4[Option ID=15084]

Sl. No.72

QBID:651022

The dress of female Manipuri Tradition 1s ealled

(1)  Kamandi
(2) Phanek
(3)  Kummi
(4) Kikli

gt afeesit 51 Tl S 5 w

1)  FEE
) =
3) Fodt
(4) et

1[Option ID=15085]
2[Option ID=15086]
3[Option ID=15087]
4[Option ID=15088]

Sl. No.73
QBID:651023

(1) Stanislavski

Who said “The Director must be a brain™?



2 Duke of Saxe Meiningen

(3) Piscator
(4) Herbert Blau
T o o g TR o o U "7
(1) =T
(2) <= i &fFFE

@ TU&pe

(4) mm

1[Option ID=15089]
2[Option ID=15090]
3[Option ID=15091]
4[Option ID=15092]

Sl. No.74
QBID:651024

To which place ‘Kabuki’ belongs?
(1) Bali

(2)  Japan
(3) SriLanka

(4) Philippines
e P v A o 27
1) e
(2) ==
(3)  sfiwm
(4 THRrdE

1[Option ID=15093]
2[Option ID=15094]
3[Option ID=15095]
4[Option ID=15096]

Sl. No.75
QBID:651025

The mask used in the Italian folk form ‘Commediadella arte’ is made by

(1) Paper
(2)  Jute
(3) Leather

(4) Plaster
st i B9 Fiufgaren S’ # wam @ aren gate fefafea § & e a2
) Jpe—
(2) 92
(3) =wal
(4) TEER

1[Option ID=15097]
2[Option ID=15098]
3[Option ID=15099]
4[Option ID=15100]

Sl. No.76
QBID:651026

Akulbala Sarkar of West Bengal is the first female folk theater artist of
(1) Bonbibir Pala

(2) Alkap

(3) Khan

(4) Leto

offem se 1 e awwn Frefeta § 3 fra A wem afien S e werwn 87

(1) Fifefi o
(2) s
3) =

(4) ==



1[Option ID=15101]
2[Option ID=15102]
3[Option ID=15103]
4[Option ID=15104]

Sl. No.77
QBID:651027

‘Hojagiri’ is a popular folk dance of
(1) Maharashtra
(2) Tripura

3) Assam

(4) Bihar

FriHy Ffafaa § § w7 # A | g £
(1)
(2 Fm

(3) #EH

(4) fmnm

1[Option ID=15105]
2[Option ID=15106]
3[Option ID=15107]
4[Option ID=15108]

Sl. No.78
QBID:651028

From the mythology, the most prominently used character in dance and drama performance

is

(1) Krishna

(2) Dronacharya
(3) Duryodhan

(4) Vidura
diaifirer Fenst # & goa i A1ea vaEA | watius wgEar & wam e sHaren afe @ I

1)

W
(2) ZmmEr
(@) i
@ 7

1[Option ID=15109]
2[Option ID=15110]
3[Option ID=15111]
4[Option ID=15112]

Sl. No.79
QBID:651029

Mention the appropriate ‘Rupaka’ which 1s a monologue in onset

(1) Dima
(2) Vyayoga
(3) Samvakara

(4) DBhana

T I FE F I Hi S OH g g
1) #m

(2) =mm

(3) wEEER

(4) wH=

1[Option ID=15113]
2[Option ID=15114]
3[Option ID=15115]
4[Option ID=15116]

Sl. No.80
QBID:651030

‘Krishnattam'’ is the folk-theatre of
(1) Telengana
(2) Goa

(3) Karnataka

(4) Kerala




Fomaze TAffan # F Fa w1 0 | T 27
(1)  FEm
(2) Licls

(3 iz
4)  F=

1[Option ID=15117]
2[Option ID=15118]
3[Option ID=15119]
4[Option ID=15120]

Sl. No.81
QBID:651031

Match List I with List IT :
List I List I
(4) Kuchipudi (I)  Sri Chaitanya
(B) Gaudiya (II) Thyagaraja
(C) Kathakali (IIT) Shankardeva
(D) Sattriya (IV) Irayimman Tampi

Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-), (C)-(IV), (D)-(11D)
(2)  (A)(D), (B)-D), (O)-(III), (D)-(IV)
(3)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(ID)

(4) (A)-(IV). (B)-(IID), (C)-(1T), (D)-(T)

e 1 % @y gt 11 & faer Sifsm)

I T
() Fhagd M o=
(B) TR ) R
(C)  =Furett (Il I
(Dy @effar (IV) sg= ard
ot fou o femret 4 @ it I = it

1) (A)-ID), B)-(D). (C)-(IV), (D)-(I1T)
(2)  (A)AD), (B)-(ID), (O)-(IID), (D)-(IV)
(3)  (A)-(IID), (B)-(IV), (C)-(1), (D)-(IT)

(4) (A)-(IV), (B)-(IT), (C)-(I0), (D)-(D)

1[Option ID=15121]
2[Option ID=15122]
3[Option ID=15123]
4[Option ID=15124]

Sl. No.82
QBID:651032

Match List I with List IT :
List I List I1
(A) Madhav Deva () Mohiniattam
(B) Swati Tirunal (I) Kathak
(C) Tulsi Das (IIT) Bharata Natyam
(D) Muthuswami Dikshitar (IV) Sattriya

Choose the correct answer from the options given below :

1) (A)-(D. (B)-ID), (C)-(IID), (D)-(IV)
(2)  (A)-V), (B)-(D), (C)-(IT), (D)-(ITT)
(3)  {(AMIID, (B)-AV), (O-(D), D)-()

(4)  (A)-(ID), (B)-(ILL). (C)-(IV), (D)-(Iy

=t 1% =g 7t 11 = frema Fifaw

=1 =1
(A) W= I  wiiEt seem
(B) wata faeme (I)
(©) FedEE (I1L) w7 Tzm
(D) Fyamt ifim (IV) e
fo fou oo forpedi & & Wl I 1 = i

@) (A)-(D, (B)-(1D), (C)-(II), (D)-(IV)
)




(A)-(IV), (B)-(D), (C)-(IT), (D)-(IT)
3) (A)-(TID), (B)-(IV), (C)-(I), (D)-()
(4)  (A)-(ID), (B)-(IIT), (C)-(IV), (D)-(D)

1[Option ID=15125]
2[Option ID=15126]
3[Option ID=15127]
4[Option ID=15128]

Sl. No.83
QBID:651033

Mateh List I with List I1:
List I
(A) D.R. Ankur
(B) Usha Ganguli
(C) H. Kanhailal
(D) Brecht

(1) (A)-(ID), (B)-(ID, (C)-AV), (D))
(2)  (A)-1D), B)-(ID). (C)-(D). (D)-(IV)
(3)  (A)-(ILD), (B)-(D), (C)-(IL), (D)-(IV)
(4)  (A-IV), (B)-(D), (C)-(I10), (D)-(1Dy

= 1% =19 ot 11 = faem Fifs
Ecin

(A)  dham. g

(B) S et

(C) A, FEHaE
(D) w&A

1) (A)-D, (B)-1D), (O)-AV), D)-(I)
(2) (A)IID, (B)-D), (C)-@). (D)-(IV)
(3) (A)-(D, (B)-(D), (C)-(ID). (D)-(IV)

(4) (A)-(IV), (B)-(D), (C)-(IID), (D)-(ID)

1[Option ID=15129]
2[Option ID=15130]
3[Option ID=15131]
4[Option ID=15132]

= fon e faedl § & w6 39 = = it

List IT
() Rudali
(II) Epic

(ITI) Theatre of Rituals
(IV) Kahani Ka Rang Mahal

Choose the correct answer from the options given below :

-1
[V
() weE==
(I11) wEr faus
(IV) zT1 1 TTge

Sl. No.84
QBID:651034

Match List T with List IT :

List I
(A) Shabana Azmi
(B) AR.Rahman
(C) Gambhir Singh Mudha
(D) Bhupen Hazarika

1) (A)(ID), (B)-(IID), (C)-(D), (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(I1T)
(3)  (A)-ID), (B)-(IV), (C)-(I), (D)-(ID)

(4)  (A)-(IID), (B)-(ID), (C)-T), (D)-(IV)

(1) (A)-(ID), (B)-(ID), (C)-(D), (D)-(IV)
(2)  (A)(ID), (B)-IV), (O)-(D), (D)-(11I)

(3)  (A)(IID, (B)-(IV), (O)-(D), (D)-(IT)
(4) (A)-(IID), (B)-(ID), (C)-(I), (D)-(IV)

1[Option ID=15133]

gt 1 % &g &t 11 = e Fifs
=1
(A) = ST
(B) T W EHA
() e fag 7a
(D) T FEH
et o, o Ferreral & wEl 3o = =wa i

List IT
() Padmashr1
(IT) Padmabhushan
(III) Dada Saheb Phalke Award

(IV) Oscar

Choose the correct answer from the options given below :

n  wh
(I T
(T11) ZTETHTes ek e
(V) e



2[Option ID=15134]
3[Option ID=15135]
4[Option ID=15136]

Sl. No.85
QBID:651035

Arrange sequentially the following ‘Rasa’:

(A) Shringara

(B) Karuna
(C) Raudra
(D) Hasya
(E) Veera

Choose the correct answer from the options given below :
(1) (A), (D), (B, (C). (E)

(2) (M), (B), (C), (D), (E)

(3) (E), (D), (C), (B), (A)

(4)  (A). (E), (D). (C), (B)

fferfiaa w8 ®1 sEFATER sEtET Hif
(A) ERL

(B)  ww

© &

oy wT=

E) Hr

= fou o feeredi # & wEl 3 W = i

(1) (A), (D), (B).(C), (E)
(2)  (A), (B), (C), (D), (E)
(3) (E), (D), (C), (B), (&)

(@ @ ®,D).©).®

1[Option ID=15137]
2[Option ID=15138]
3[Option ID=15139]
4[Option ID=15140]

Sl. No.86
QBID:651036

Arrange the shastra granthas sequentially according to the era :
(A) Brihaddeshi

(B) Sangeeta Damodara

(C) Natyashastra

(D) Abhinaya Chandrika

(E) Bhaktiratnakara

Choose the correct answer from the options given below :
1) (A), (B). (0), (D). (B)

(2) (0), (A), (B), (D), (E)

(3) (B)(C), (D), (E), (A)

(4) (E), (D), (C), (B), (4)

Fafefian s 74T # 3TF FERAEER =Etem Hi

VI ol

(B) i aie

(€)=

(D) s g

(E)  wien wem=

At Fom o foredi 3 @ well 3w = i

(1) (A, (B). (), D). (B)
(@  (©). (4. (B). D). ()
3) ®).(0). D). (E). &)

(4) (E), (D). (C). (B), (&)

1[Option ID=15141]
2[Option ID=15142]
3[Option ID=15143]
4[Option ID=15144]

Sl. No.87
QBID:651037




Select the correct sequence from top to bottom :

(A) Nashika, Bhru, Kapol, Chibuk

(B) Kapol, Bhru, Chibuk, Nashika

(C) Kapol, Chibuk, Nashika, Bhru

(D) Kapol, Bhru, Nashika, Chibuk

(E) Bhru, Chibuk, Nashika, Kapol

Choose the correct answer from the options given below :
(1) (A) and (D)

() (0)and (B)

(3) (D)only

(4) (B)only

S ¥ i o S HE i 1 e i
(&) TifEE, o, wE,
(B) e, Y, T, e
(© e, foa, e, g
® g, TR, S
(B) o, fom, ifiver, wdie

F fog o foet # & W I A A
@) 4 si (D)
(2) (C) 3 (B)
(3)  F== (D)

) 3= (B)

1[Option ID=15145]
2[Option ID=15146]
3[Option ID=15147]
4[Option ID=15148]

Sl. No.88
QBID:651038

Make the list of Rasa-names sequentially

(A) Shringara, Hasya, Karuna, Raudra
(B) Hasya, Karuna, Shringara, Raudra
(C) Raudra, Shringara, Karuna, Hasya
(D) Karuna, Hasya. Shringara. Raudra
(E) Hasya, Raudra, Shringara, Karuna

Choose the correct answer from the options given below :

(1) (A)and (C)
(2) (A)only
(3) (C)and (B)

(4) (D) only

T i it FAE g

A)  Fm, T, ¥, i
(B) =T, wE, 4, 47
©) g gm, FE W, 7=
(D) ==, 7=, g, 47
(B) =, Az, g0, F0

F2 fog e et & w1 A
1) (A (0)

(2) Fae (A)

(3) (O) s (®)

(4) Faa (D)

1[Option ID=15149]
2[Option ID=15150]
3[Option ID=15151]
4[Option ID=15152]

Sl. No.89
QBID:651039




Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Kalidasa was unparalleled in his portrayal of the eternal conflict between
desire and duty.

Reason (R) : Apart from hero heroine his play features an antagonist for the first time.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) (A) 18 not correct but (R) 1s correct

S 51w T E : uF #ET (Assertion (A)) F w1 # fafad & @ g@0 3599% F001 (Reason (R))
FEIH:

SR (A) : HEAI S e % o AEEa g2 & o § wifeeE saeE o)

F (R) : AT AT H FA I ATeF A GE9aH U dfegdl i fafia e

I oA F T F, 2w T et § | w39 3w = Hii |

W) (A) s (R) 3 = E T (R), (A) Fi 7t = 2
(2) (&) 3 (R) 3F1 & &, @ (R), (A) R wdl sawen 4 2
(3) (M) R, Tl (R) 7 T R

(@) (A= 7 8, S (R) 7 2

1[Option ID=15153]
2[Option ID=15154]
3[Option ID=15155]
4[Option ID=15156]

Sl. No.90
QBID:651040

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  According to Natyashastra the ‘Abhinaya Bheda’ is of four types — which
has been coming generation after generation: among them ‘Vachika’' is the

most important.

Reason (R) : This statement based upon Abhinaya Veda is the best advantage of the
performer providing a wide range of dramatic possibilities inherent in the

text for stage presentation till today.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)

) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3)  (A)is true but (R) is false
(4) (A) is false but (R) is true
it 3t e fam g # ¢ uw sifirrem (Assertion (A) % %9 # fafaq 2 f g0 36% A0 (Reason (R))
FEIH
s (A) @ AT F FAAR, A U 9R GER § A § — S gyadl g9 I aras
T AEe B
F0 (R) : ‘wfiea %2 W auia 97 e At wefa F fou s e § siafifa aeda
HAEIEAT i S T WEE FA § S 7 wEE 2
I HA F I H, A E T e 6 @ e I I = i |

) (A) it (R) & wea & it (R), (A) F a@dl samen &
(2) (A) 3R (R) 2 7 8, SR8 (R), (A) F1 w81 samen =4 &
(3)  (A)Hm 2, 7 (R) swea #

(4) (A ¥ 7, A (R) 7 #

1[Option ID=15157]
2[Option ID=15158]
3[Option ID=15159]
4[Option ID=15160]

Sl. No.91
QBID:651041




Read the following paragraph and answer the five questions that follow :

The film, Gumnaami, based on the debate surrounding Netaji's death, is not neutral in its
presentation of the theories of Mukherjee Commission Hearings and the Gumnaami Baba
tales. Touted as a dramatised version of the debate, the film takes sides at the very onset.
When the leader’s birth and death dates and vears flash on screen, there's a series of question
marks beside his death year. Since then, the film continues to take you through the theory of
Gumnaami Baba supported by a group called Mission Netaji.

The beginning credits and end credits roll with a lot of information on why and how Netaji's
death is still a mystery. The film team has researched well and brought in a lot of arguments
and counter arguments. The film starts with depicting a conversation between the three
iconic leaders of India — Mahatma Gandhi, Jawaharlal Nehru and Netaji Subhas Chandra
Bose. Though the scene is a dramatised version of what could have transpired between them
during that meet, the scene draws closely from the popular image painted of the three and
their strong ideologies. This near-perfect scene is carefully designed to give an old black and

white reel feel that incorporates the uneven screen texture well. Sadly, no other scene in the
film later is as detailed as this.

fraferfiga ey =t ufew ik fow Tu giw wwat w0 3w

Jarsit it gy Tedt Tgm W enuia fhen qEAT gEsfl ot gAar o AT aen wened i et
goeft srot wegfa d fsqer 7€ 21 36 3t ogd % e B9 % dit W Uy R e R, Afed @8 feew smw
U € v oAt 81 & ShIA T AT % o1 39N geg i faferr ofi o fomme 9 €, SR geg o o o wry
3 94 famg & Bd 21 99 9, fhew soet frwm Jarsf ame g g wEfda e e 6 ead § 9
& ST ST T R

ARY 3N 37 ° vehia e U § 38 @ 6 @ ol It 2 75 F=1 3R F Janh 6 gy 9= oft o
@ ¢ fhed &1 dm 3 welt yohR T foran 2 i ue fome o @ 9 9o weqa fope B) fbem & oiw § wwa
% o wfeToRes JaTett — wETeHT M, SETEeTd TeE ST HdTe Ty = 99 % e araier g T 2|
Tafy T8 g, 39 TR § S $S g1 &N, SHHT Teh Aehid &9 2, a9 78 399 37 d1 Jarsti
dlE sfa ot R T femuwei W sl fewe @ stuia 31 98w v WA gw
ALY QU Yod ¥ fid &1 W19 T T & S Seg-Tee BhiA sH1ae d Welt-wifd Ha @ gl
78 gEE & 7 39 fhen  ag &1 1% ot 599 o1 =ANaR T 2

‘What is the birthday of Netaji Subhas Chandra Bose?

(1) 21 August
(2) 23.January
(3) 15 August
(4) 19 November
FaTt gaT = = i 5 fafy = e
1) 21 W=

() 23 w=f

(3) 15 &&=
(4) 19 7991

1[Option ID=15161]
2[Option ID=15162]
3[Option ID=15163]
4[Option ID=15164]

Sl. No.92
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Read the following paragraph and answer the five questions that follow :

The film, Gumnaami, based on the debate surrounding Netaji's death, is not neutral in its
presentation of the theories of Mukherjee Commission Hearings and the Gumnaami Baba
tales. Touted as a dramatised version of the debate, the film takes sides at the very onset.
When the leader’s birth and death dates and vears flash on screen, there's a series of question
marks beside his death year. Since then, the film continues to take you through the theory of
Gumnaami Baba supported by a group called Mission Netaji.

The beginning credits and end credits roll with a lot of information on why and how Netaji's
death is still a mystery. The film team has researched well and brought in a lot of arguments
and counter arguments. The film starts with depicting a conversation between the three
iconic leaders of India — Mahatma Gandhi, Jawaharlal Nehru and Netaji Subhas Chandra
Bose. Though the scene is a dramatised version of what could have transpired between them
during that meet, the scene draws closely from the popular image painted of the three and
their strong ideologies. This near-perfect scene is carefully designed to give an old black and

white reel feel that incorporates the uneven screen texture well. Sadly, no other scene in the
film later is as detailed as this.

fraferfiga ey =t ufew ik fow Tu giw wwat w0 3w

Jarsit it gy Tedt Tgm W enuia fhen qEAT gEsfl ot gAar o AT aen wened i et
goeft srot wegfa d fsqer 7€ 21 36 3t ogd % e B9 % dit W Uy R e R, Afed @8 feew smw
U € v oAt 81 & ShIA T AT % o1 39N geg i faferr ofi o fomme 9 €, SR geg o o o wry
3 94 famg & Bd 21 99 9, fhew soet frwm Jarsf ame g g wEfda e e 6 ead § 9
& ST ST T R

ARY 3N 37 ° vehia e U § 38 @ 6 @ ol It 2 75 F=1 3R F Janh 6 gy 9= oft o
@ ¢ fhed &1 dm 3 welt yohR T foran 2 i ue fome o @ 9 9o weqa fope B) fbem & oiw § wwa
% o wfeToRes JaTett — wETeHT M, SETEeTd TeE ST HdTe Ty = 99 % e araier g T 2|
Tafy T8 g, 39 TR § S $S g1 &N, SHHT Teh Aehid &9 2, a9 78 399 37 d1 Jarsti
dlE sfa ot R T femuwei W sl fewe @ stuia 31 98w v WA gw
ALY QU Yod ¥ fid &1 W19 T T & S Seg-Tee BhiA sH1ae d Welt-wifd Ha @ gl
78 gEE & 7 39 fhen  ag &1 1% ot 599 o1 =ANaR T 2

The film Gumnami starts with depicting a conversation of three congress headers excluding

(1) Gandhiji's death incident
(2)  Nehruji
(3) Sardar Vallavbhai

(4) BSubhas Chandra Bose

e it s & i & e o i s e et e £

et

(1) st

() =

(3) TR TFH T

(4)  gum 9= @

1[Option ID=15165]
2[Option ID=15166]
3[Option ID=15167]
4[Option ID=15168]
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Read the following paragraph and answer the five questions that follow :

The film, Gumnaami, based on the debate surrounding Netaji's death, is not neutral in its
presentation of the theories of Mukherjee Commission Hearings and the Gumnaami Baba
tales. Touted as a dramatised version of the debate, the film takes sides at the very onset.
When the leader’s birth and death dates and vears flash on screen, there's a series of question
marks beside his death year. Since then, the film continues to take you through the theory of
Gumnaami Baba supported by a group called Mission Netaji.

The beginning credits and end credits roll with a lot of information on why and how Netaji's
death is still a mystery. The film team has researched well and brought in a lot of arguments
and counter arguments. The film starts with depicting a conversation between the three
iconic leaders of India — Mahatma Gandhi, Jawaharlal Nehru and Netaji Subhas Chandra
Bose. Though the scene is a dramatised version of what could have transpired between them
during that meet, the scene draws closely from the popular image painted of the three and
their strong ideologies. This near-perfect scene is carefully designed to give an old black and

white reel feel that incorporates the uneven screen texture well. Sadly, no other scene in the
film later is as detailed as this.

fraferfiga ey =t ufew ik fow Tu giw wwat w0 3w

Jarsit it gy Tedt Tgm W enuia fhen qEAT gEsfl ot gAar o AT aen wened i et
goeft srot wegfa d fsqer 7€ 21 36 3t ogd % e B9 % dit W Uy R e R, Afed @8 feew smw
U € v oAt 81 & ShIA T AT % o1 39N geg i faferr ofi o fomme 9 €, SR geg o o o wry
3 94 famg & Bd 21 99 9, fhew soet frwm Jarsf ame g g wEfda e e 6 ead § 9
& ST ST T R

ARY 3N 37 ° vehia e U § 38 @ 6 @ ol It 2 75 F=1 3R F Janh 6 gy 9= oft o
@ ¢ fhed &1 dm 3 welt yohR T foran 2 i ue fome o @ 9 9o weqa fope B) fbem & oiw § wwa
% o wfeToRes JaTett — wETeHT M, SETEeTd TeE ST HdTe Ty = 99 % e araier g T 2|
Tafy T8 g, 39 TR § S $S g1 &N, SHHT Teh Aehid &9 2, a9 78 399 37 d1 Jarsti
dlE sfa ot R T femuwei W sl fewe @ stuia 31 98w v WA gw
ALY QU Yod ¥ fid &1 W19 T T & S Seg-Tee BhiA sH1ae d Welt-wifd Ha @ gl
78 gEE & 7 39 fhen  ag &1 1% ot 599 o1 =ANaR T 2

The film ‘Gumnami’ is based on which debate?

(1)  Gandhiji's death incident
(2) Lalbahadur Sashtri's death mystery
(3) Netaji's death mystery

(4) Indira Gandhiji’s death mystery
forem T e wma W smafE 27

(1) et 1 90y i @2

(2) e FETgE AT e W EE

(3) Aol £ gy e

(a) U F T = wE

1[Option ID=15169]
2[Option ID=15170]
3[Option ID=15171]
4[Option ID=15172]
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Read the following paragraph and answer the five questions that follow :

The film, Gumnaami, based on the debate surrounding Netaji's death, is not neutral in its
presentation of the theories of Mukherjee Commission Hearings and the Gumnaami Baba
tales. Touted as a dramatised version of the debate, the film takes sides at the very onset.
When the leader’s birth and death dates and vears flash on screen, there's a series of question
marks beside his death year. Since then, the film continues to take you through the theory of
Gumnaami Baba supported by a group called Mission Netaji.

The beginning credits and end credits roll with a lot of information on why and how Netaji's
death is still a mystery. The film team has researched well and brought in a lot of arguments
and counter arguments. The film starts with depicting a conversation between the three
iconic leaders of India — Mahatma Gandhi, Jawaharlal Nehru and Netaji Subhas Chandra
Bose. Though the scene is a dramatised version of what could have transpired between them
during that meet, the scene draws closely from the popular image painted of the three and
their strong ideologies. This near-perfect scene is carefully designed to give an old black and
white reel feel that incorporates the uneven screen texture well. Sadly, no other scene in the
film later is as detailed as this.

fraferfiga ey =t ufew ik fow Tu giw wwat w0 3w

Jarsit it gy Tedt Tgm W enuia fhen qEAT gEsfl ot gAar o AT aen wened i et
goeft srot wegfa d fsqer 7€ 21 36 3t ogd % e B9 % dit W Uy R e R, Afed @8 feew smw
U € v oAt 81 & ShIA T AT % o1 39N geg i faferr ofi o fomme 9 €, SR geg o o o wry
3 94 famg & Bd 21 99 9, fhew soet frwm Jarsf ame g g wEfda e e 6 ead § 9
& ST ST T R

ARY 3N 37 ° vehia e U § 38 @ 6 @ ol It 2 75 F=1 3R F Janh 6 gy 9= oft o
@ ¢ fhed &1 dm 3 welt yohR T foran 2 i ue fome o @ 9 9o weqa fope B) fbem & oiw § wwa
% o wfeToRes JaTett — wETeHT M, SETEeTd TeE ST HdTe Ty = 99 % e araier g T 2|
Tafy T8 g, 39 TR § S $S g1 &N, SHHT Teh Aehid &9 2, a9 78 399 37 d1 Jarsti
dlE sfa ot R T femuwei W sl fewe @ stuia 31 98w v WA gw
ALY QU Yod ¥ fid &1 W19 T T & S Seg-Tee BhiA sH1ae d Welt-wifd Ha @ gl
78 gEE & 7 39 fhen  ag &1 1% ot 599 o1 =ANaR T 2

The near-perfect first scene is carefully designed through

(A) Eastman coloured reel
(B) Black and White reel
() Historical set and uneven screen texture

(D)  Multilingual Dialogues
Choose the correct answer from the options given below :
(1)  (A) and (B) only
(2) (B} and (C) only
(3) (C) and (D) only
(4) (A)and (D) only
ST g WUH g7 Faefeian # | Fre-fRE 5 e § e e T g
(&)  FE
(B vdd vaw dw
(C) feEs ¥ 3 Fus TEs BhE e
(D) g Fae
ettt fomreat & & w1 3 9w :
(1) A (A) F(B)
(2)  Fa= (B) i ()

(3) == (0) 3f (D)

@ e (A) 3 (D)

1[Option ID=15173]
2[Option ID=15174]
3[Option ID=15175]
4[Option ID=15176]

Sl. No.95
QBID:651045



Read the following paragraph and answer the five questions that follow :

The film, Gumnaami, based on the debate surrounding Netaji's death, is not neutral in its
presentation of the theories of Mukherjee Commission Hearings and the Gumnaami Baba
tales. Touted as a dramatised version of the debate, the film takes sides at the very onset.
When the leader’s birth and death dates and vears flash on screen, there's a series of question
marks beside his death year. Since then, the film continues to take you through the theory of
Gumnaami Baba supported by a group called Mission Netaji.

The beginning credits and end credits roll with a lot of information on why and how Netaji's
death is still a mystery. The film team has researched well and brought in a lot of arguments
and counter arguments. The film starts with depicting a conversation between the three
iconic leaders of India — Mahatma Gandhi, Jawaharlal Nehru and Netaji Subhas Chandra
Bose. Though the scene is a dramatised version of what could have transpired between them
during that meet, the scene draws closely from the popular image painted of the three and
their strong ideologies. This near-perfect scene is carefully designed to give an old black and

white reel feel that incorporates the uneven screen texture well. Sadly, no other scene in the
film later is as detailed as this.

fraferfiga ey =t ufew ik fow Tu giw wwat w0 3w

Jarsit it gy Tedt Tgm W enuia fhen qEAT gEsfl ot gAar o AT aen wened i et
goeft srot wegfa d fsqer 7€ 21 36 3t ogd % e B9 % dit W Uy R e R, Afed @8 feew smw
U € v oAt 81 & ShIA T AT % o1 39N geg i faferr ofi o fomme 9 €, SR geg o o o wry
3 94 famg & Bd 21 99 9, fhew soet frwm Jarsf ame g g wEfda e e 6 ead § 9
& ST ST T R

ARY 3N 37 ° vehia e U § 38 @ 6 @ ol It 2 75 F=1 3R F Janh 6 gy 9= oft o
@ ¢ fhed &1 dm 3 welt yohR T foran 2 i ue fome o @ 9 9o weqa fope B) fbem & oiw § wwa
% o wfeToRes JaTett — wETeHT M, SETEeTd TeE ST HdTe Ty = 99 % e araier g T 2|
Tafy T8 g, 39 TR § S $S g1 &N, SHHT Teh Aehid &9 2, a9 78 399 37 d1 Jarsti
dlE sfa ot R T femuwei W sl fewe @ stuia 31 98w v WA gw
ALY QU Yod ¥ fid &1 W19 T T & S Seg-Tee BhiA sH1ae d Welt-wifd Ha @ gl
78 gEE & 7 39 fhen  ag &1 1% ot 599 o1 =ANaR T 2

Given below are two statements :

Statement | :  Todays youngsters, who are often accused of half-knowledge and
indifference, also find 1t hard to not acknowledge Netaji's contributions.

Statement IT : The depiction will be surprising and amusing for the audience.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are False

(2) Both Statement I and Statement II are True

(3) Statement [ is correct but Statement II is false

(4) Statement [ is false but Statement 11 is true

A 2 e frw o €
FUA 1 AR F G TSI WU TH TE AR IGEE SR S = e 6
ot 3 Jarft % ArEe F1 s T w= )
FoA I1: =8 faam gei=i & oo so=dems off s
IR FUH % el H, A T T fasedl # & weE aug s 9ad Fif
(1) o 13 T15M1 58 74 &
(2) w1 R 113 o
(3) FF [Wd & T, Fad 1w 4 ¢
(4) & 1ad 44 2 weg, #1169

1[Option ID=15177]
2[Option ID=15178]
3[Option ID=15179]
4[Option ID=15180]
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Read the following paragraph and answer the five questions that follow:

Ramlila, literally “Rama’s play”, is a performance of then Ramayana epic in a series of scenes
that include song, narration, recital and dialogue. It is performed across northern India
during the festival of Dussehra, held each year according to the ritual calendar in autumn.
The most representative Ramlilas are those of Ayodhya, Ramnagar and Benares, Vrindavan,
Almora, Sattna and Madhubani. This staging of the Ramayana 1s based on the
Ramacharitmanas, one of the most popular storytelling forms in the north of the country.
This sacred text devoted to the glory of Rama, the hero of the Ramayana, was composed by
Tulsidas in the sixteenth century in Hindustani in order to make the Sanskrit epic available
to all. The majority of the Ramlilas recount episodes from the Ramacharitmanas through a
series of performances lasting ten to twelve days, but some, such as Ramnagar's, often last an
entire month. Festivals are organized in hundreds of settlements, towns and villages during
the Dussehra festival season celebrating Rama’s return from exile. Ramlila recalls the battle
between Rama and Ravana and consists of a series of dialogues between gods, sages and the
faithful. Ramlila’s dramatic force stems from the succession of icons representing the climax
of each scene. The audience is invited to sing and take part in the narration. The Ramlila
brings the whole population together, without distinetion of caste, religion or age. All the
villagers participate spontaneously, playing roles or taking part in a variety of related
activities, such as mask and costume making, preparing make-up, effigies and lights.
However, the development of mass media, particularly television soap operas, is leading to a
reduction in the audience of the Ramlilas, which are therefore losing their principal role of
bringing people and communities together.

faferfiga ey =it ufew 3 feu o giw weat =1 3@ e

Twctien, e wmisew @19 8 19 6t <fien, TamET qEeReT 1 gvEl 1 Uk g g@en ® 5ed @ e i,
U, JefeR SR FETe e 210 81 Teish 9 o AT el % ATEN INE Bd, H EWEU 6T &
ZF T 3T YA H FET UEIH fohdT ST 7, SFNEAl, THAR AR SARd, g, eHisl, "ol 3
wyet i Taeliant gatfas wfaffas 21w 1 g1 tHeiansy @ snari g 2 e 39 % s d
HaTfieh CThiE 9T Tgid €9 7, THAV o /=, 9 o J9 I THGT 39 qfas 79 6l A1 qoriie™ g
Hieedi adl # fégeart § & 7 ot @ik a8 TXha WETRIS GagAN AT W1 Heh, SAfehal THetensti |
TEfaaed % fafia som & gm ¥ ang A a% ves i U gEen & TR qe fR ST @ weg TR
S FB WM W IE o4 P UF W T Idl 2l Ge 3609 o GE TH & I9a18 H J99 Tled i dehgl
afecrt, TR 3R e § ItEa ARG AT S | THeftan § T 3R @0 % 7ed gu g A
foran Stman 2 ot 3o Svar, i i wehl & ot argl it Uh gEen a8l THefiar § SeE g3 &
THICHS I TG AT YT S Tk QU Fcfiett s6 Tehie 59 <1 21 grared s avid § e SR
aI o4 % e smafia foRn smar 21 weefien sifa, o @ sy we e fomn wEh s = e wny
ATt 21 Tt TTHETET gEte S W S, TR FE, A S, S el e 39 gefd Sk
T Td: Tpd ale | W o & arern fafie yftemett #§ sifirm s #)1 qenfy, g fifsn # faem, fmy =
Sefifas @ oA oMfg & HRor THellesT % g3 § wHY o W R S AN SR HYgri Sl UH "1y aH
1 A9 gae i @l @R

Which among the following is the important part of ‘Ramlila™?

(1) Mask
(2) Costume

(3) Effigies

(4) Allof the above

frfefaa # & S T T THeien & gy 9 g7

1)
)
(3 T
(4) TEF Th

1[Option ID=15181]
2[Option ID=15182]
3[Option ID=15183]
4[Option ID=15184]
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Read the following paragraph and answer the five questions that follow:

Ramlila, literally “Rama’s play”, is a performance of then Ramayana epic in a series of scenes
that include song, narration, recital and dialogue. It is performed across northern India
during the festival of Dussehra, held each year according to the ritual calendar in autumn.
The most representative Ramlilas are those of Ayodhya, Ramnagar and Benares, Vrindavan,
Almora, Sattna and Madhubani. This staging of the Ramayana 1s based on the
Ramacharitmanas, one of the most popular storytelling forms in the north of the country.
This sacred text devoted to the glory of Rama, the hero of the Ramayana, was composed by
Tulsidas in the sixteenth century in Hindustani in order to make the Sanskrit epic available
to all. The majority of the Ramlilas recount episodes from the Ramacharitmanas through a
series of performances lasting ten to twelve days, but some, such as Ramnagar's, often last an
entire month. Festivals are organized in hundreds of settlements, towns and villages during
the Dussehra festival season celebrating Rama’s return from exile. Ramlila recalls the battle
between Rama and Ravana and consists of a series of dialogues between gods, sages and the
faithful. Ramlila’s dramatic force stems from the succession of icons representing the climax
of each scene. The audience is invited to sing and take part in the narration. The Ramlila
brings the whole population together, without distinetion of caste, religion or age. All the
villagers participate spontaneously, playing roles or taking part in a variety of related
activities, such as mask and costume making, preparing make-up, effigies and lights.
However, the development of mass media, particularly television soap operas, is leading to a
reduction in the audience of the Ramlilas, which are therefore losing their principal role of
bringing people and communities together.

faferfiaa My =t ufew 3 feu U gtw geat =1 3@ e

Twctien, e wmisew 219 8 19 6t e, THET HEEhTeT 1 gl 1 Uk Qi g@en ® HeH @ ey i,
o, TEgfaeRT 3T TaTg WS B1d §| T® a6 % SAEIHS hoist % SIJER INE Fd, § el IEd &
SF TT I YNA H $ERT UGS fohAT ST ®, SFEAl, THAR A SARd, g, eHiel, "ol 3N
wYeHT I T, Taifs wifafAfes 21 THmEen 1 ged THeiaaEe W s g @ Sife <9 & I A
HaTfiek TRl 9T Tgfd €9 7, THEY o T/, 9 o I &I THGT 39 gfas 79 6t A1 qoriie™ g
Hieedl adl # fegear § & 7 oft @ik g7 TEha WETRIsd HagAY AT S Heh, JAfehal THeenst |
TEiaEHE % fafis so &1 28 o anE fod 9 wevie i U HEe & 9 Jee R ST @ wWeg TR
S FB WM W IE o4 P UF WIE T Idl 2l e IcHd o GE TH & I9a18 H q99 Tied hi dehal
afect, TR 3R TEl § ItEa ARG AT S 8| THeftan § T 3R @0 % 7ed gu g A
foran Stman 2 ot 3o Svar, i i wehl & ot argl it Uh gEen a8l THefiar § SeE g3 &
THICHS I TG AT YT S Tk QU Fcfiett s6 Tehie 59 <1 21 grared s avid § e SR
aI o4 % e smafia foRn smar 21 weefien sifa, o @ sy we e fomn wEh s = e wny
ATt 21 Tt TTHETET gEte S W S, TR FE, A S, S el e 39 gefd Sk
T Td: Tpd ale | W o & arern fafie yftemett #§ sifirm s #)1 qenfy, g fifsn # faem, fmy =
Sefifas @ oA oMfg & HRor THellesT % g3 § wHY o W R S AN SR HYgri Sl UH "1y aH
1 A9 gae i @l @R

During which season Ramlila is performed in Northern India?

(1)  Summer
(2) Autumn
(3) Winter
(4) Spring
I WRA H Tl F1 WEEA R T A w87
1) =
(2) w7
(3) M
(4) ==

1[Option ID=15185]
2[Option ID=15186]
3[Option ID=15187]
4[Option ID=15188]
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Read the following paragraph and answer the five questions that follow:

Ramlila, literally “Rama’s play”, is a performance of then Ramayana epic in a series of scenes
that include song, narration, recital and dialogue. It is performed across northern India
during the festival of Dussehra, held each year according to the ritual calendar in autumn.
The most representative Ramlilas are those of Ayodhya, Ramnagar and Benares, Vrindavan,
Almora, Sattna and Madhubani. This staging of the Ramayana 1s based on the
Ramacharitmanas, one of the most popular storytelling forms in the north of the country.
This sacred text devoted to the glory of Rama, the hero of the Ramayana, was composed by
Tulsidas in the sixteenth century in Hindustani in order to make the Sanskrit epic available
to all. The majority of the Ramlilas recount episodes from the Ramacharitmanas through a
series of performances lasting ten to twelve days, but some, such as Ramnagar's, often last an
entire month. Festivals are organized in hundreds of settlements, towns and villages during
the Dussehra festival season celebrating Rama’s return from exile. Ramlila recalls the battle
between Rama and Ravana and consists of a series of dialogues between gods, sages and the
faithful. Ramlila’s dramatic force stems from the succession of icons representing the climax
of each scene. The audience is invited to sing and take part in the narration. The Ramlila
brings the whole population together, without distinetion of caste, religion or age. All the
villagers participate spontaneously, playing roles or taking part in a variety of related
activities, such as mask and costume making, preparing make-up, effigies and lights.
However, the development of mass media, particularly television soap operas, is leading to a
reduction in the audience of the Ramlilas, which are therefore losing their principal role of
bringing people and communities together.

faferfiaa My =t ufew 3 feu U gtw geat =1 3@ e

Twctien, e wmisew 219 8 19 6t e, THET HEEhTeT 1 gl 1 Uk Qi g@en ® HeH @ ey i,
o, TEgfaeRT 3T TaTg WS B1d §| T® a6 % SAEIHS hoist % SIJER INE Fd, § el IEd &
SF TT I YNA H $ERT UGS fohAT ST ®, SFEAl, THAR A SARd, g, eHiel, "ol 3N
wYeHT I T, Taifs wifafAfes 21 THmEen 1 ged THeiaaEe W s g @ Sife <9 & I A
HaTfiek TRl 9T Tgfd €9 7, THEY o T/, 9 o I &I THGT 39 gfas 79 6t A1 qoriie™ g
Hieedl adl # fegear § & 7 oft @ik g7 TEha WETRIsd HagAY AT S Heh, JAfehal THeenst |
TEiaEHE % fafis so &1 28 o anE fod 9 wevie i U HEe & 9 Jee R ST @ wWeg TR
S FB WM W IE o4 P UF WIE T Idl 2l e IcHd o GE TH & I9a18 H q99 Tied hi dehal
afect, TR 3R TEl § ItEa ARG AT S 8| THeftan § T 3R @0 % 7ed gu g A
foran Stman 2 ot 3o Svar, i i wehl & ot argl it Uh gEen a8l THefiar § SeE g3 &
THICHS I TG AT YT S Tk QU Fcfiett s6 Tehie 59 <1 21 grared s avid § e SR
aI o4 % e smafia foRn smar 21 weefien sifa, o @ sy we e fomn wEh s = e wny

AT 21 Tt I gEe SR T S, PR HE, Yao S, TR el e S i Sremsmet
T Tq: Thd ek o 9T o @ 1 fafte gfenedt 8 st wa #1 qenfy, aw hifsn % faem, fosm =
sefifesm |ia St 3y 3 o Twefiensd & g § wHT o W R S <l oI WYgEl il U @Y aH

1 A9 gae i @l @R

Which of the following 1s not a character of Ramayana?
(1) Surpanakha
(2) Bidura
(3) Janak
(4) Shabari

Frferfiaa # @ #99 vw Tem T A 2
(1) sviEn

2
(2) %—3(
(3) %
(4) =

1[Option ID=15189]
2[Option ID=15190]
3[Option ID=15191]
4[Option ID=15192]
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Read the following paragraph and answer the five questions that follow:

Ramlila, literally “Rama’s play”, is a performance of then Ramayana epic in a series of scenes
that include song, narration, recital and dialogue. It is performed across northern India
during the festival of Dussehra, held each year according to the ritual calendar in autumn.
The most representative Ramlilas are those of Ayodhya, Ramnagar and Benares, Vrindavan,
Almora, Sattna and Madhubani. This staging of the Ramayana 1s based on the
Ramacharitmanas, one of the most popular storytelling forms in the north of the country.
This sacred text devoted to the glory of Rama, the hero of the Ramayana, was composed by
Tulsidas in the sixteenth century in Hindustani in order to make the Sanskrit epic available
to all. The majority of the Ramlilas recount episodes from the Ramacharitmanas through a
series of performances lasting ten to twelve days, but some, such as Ramnagar's, often last an
entire month. Festivals are organized in hundreds of settlements, towns and villages during
the Dussehra festival season celebrating Rama’s return from exile. Ramlila recalls the battle
between Rama and Ravana and consists of a series of dialogues between gods, sages and the
faithful. Ramlila’s dramatic force stems from the succession of icons representing the climax
of each scene. The audience is invited to sing and take part in the narration. The Ramlila
brings the whole population together, without distinetion of caste, religion or age. All the
villagers participate spontaneously, playing roles or taking part in a variety of related
activities, such as mask and costume making, preparing make-up, effigies and lights.
However, the development of mass media, particularly television soap operas, is leading to a
reduction in the audience of the Ramlilas, which are therefore losing their principal role of
bringing people and communities together.

faferfiaa My =t ufew 3 feu U gtw geat =1 3@ e

Twctien, e wmisew 219 8 19 6t e, THET HEEhTeT 1 gl 1 Uk Qi g@en ® HeH @ ey i,
o, TEgfaeRT 3T TaTg WS B1d §| T® a6 % SAEIHS hoist % SIJER INE Fd, § el IEd &
SF TT I YNA H $ERT UGS fohAT ST ®, SFEAl, THAR A SARd, g, eHiel, "ol 3N
wYeHT I T, Taifs wifafAfes 21 THmEen 1 ged THeiaaEe W s g @ Sife <9 & I A
HaTfiek TRl 9T Tgfd €9 7, THEY o T/, 9 o I &I THGT 39 gfas 79 6t A1 qoriie™ g
Hieedl adl # fegear § & 7 oft @ik g7 TEha WETRIsd HagAY AT S Heh, JAfehal THeenst |
TEiaEHE % fafis so &1 28 o anE fod 9 wevie i U HEe & 9 Jee R ST @ wWeg TR
S FB WM W IE o4 P UF WIE T Idl 2l e IcHd o GE TH & I9a18 H q99 Tied hi dehal
afect, TR 3R TEl § ItEa ARG AT S 8| THeftan § T 3R @0 % 7ed gu g A
foran Stman 2 ot 3o Svar, i i wehl & ot argl it Uh gEen a8l THefiar § SeE g3 &
THICHS I TG AT YT S Tk QU Fcfiett s6 Tehie 59 <1 21 grared s avid § e SR
aI o4 % e smafia foRn smar 21 weefien sifa, o @ sy we e fomn wEh s = e wny

AT 21 Tt I gEe SR T S, PR HE, Yao S, TR el e S i Sremsmet
T Tq: Thd ek o 9T o @ 1 fafte gfenedt 8 st wa #1 qenfy, aw hifsn % faem, fosm =
sefifesm |ia St 3y 3 o Twefiensd & g § wHT o W R S <l oI WYgEl il U @Y aH

1 A9 gae i @l @R

Given below are two statements :

Statement [ :  The audience is invited to sing and take part in the narration of
‘Ramlila’ performance of Northern India.

Statement II : ‘Ramakien’ and ‘Ramaker’ are the two forms of Ramayana interpreted
by the South Indian Scholars.

In the light of the above statements. choose the correct answer from the options given bhelow :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement I are false

(3) Statement I is correct but Statement 11 is false

(a4) Statement is incorrect but Statement Il is correct

A A wE Ry E

o 1: IR WRA H TG WaE % i § A e ot s o o et 6 st Rem a2
o 11 qieen i T afe wrdta gt gu o e F 5w )

S 2 o 5 i #, P Fae § 8w g

() oo | s ot LA o &

(2) o 1 3 o 11T w8 78 &
3) w17 2w, FF 18 7 &
(4) F 178 76 2 W, w1 T R

1[Option ID=15193]



2[Option ID=15194]
3[Option ID=15195]
4[Option ID=15196]
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Read the following paragraph and answer the five questions that follow:

Ramlila, literally “Rama’s play”, is a performance of then Ramayana epic in a series of scenes
that include song, narration, recital and dialogue. It is performed across northern India
during the festival of Dussehra, held each year according to the ritual calendar in autumn.
The most representative Ramlilas are those of Ayodhya, Ramnagar and Benares, Vrindavan,
Almora, Sattna and Madhubani. This staging of the Ramayana is based on the
Ramacharitmanas, one of the most popular storytelling forms in the north of the country.
This sacred text devoted to the glory of Rama, the hero of the Ramayana, was composed by
Tulsidas in the sixteenth century in Hindustani in order to make the Sanskrit epic available
to all. The majority of the Ramlilas recount episodes from the Ramacharitmanas through a
series of performances lasting ten to twelve days, but some, such as Ramnagar's, often last an
entire month. Festivals are organized in hundreds of settlements. towns and villages during
the Dussehra festival season celebrating Rama's return from exile. Ramlila recalls the battle
between Rama and Ravana and consists of a series of dialogues between gods, sages and the
faithful. Ramlila’s dramatic force stems from the succession of icons representing the climax
of each scene. The audience 1s invited to sing and take part in the narration. The Ramhla
brings the whole population together, without distinction of caste, religion or age. All the
villagers participate spontaneously, playing roles or taking part in a variety of related
activities, such as mask and costume making, preparing make-up, effigies and lights.
However, the development of mass media, particularly television soap operas, is leading to a
reduction in the audience of the Ramlilas, which are therefore losing their principal role of
bringing people and communities together.

frfarftaa memy =t ufew e few T uie gei 1 s A

THctten, fraer wfsesr s1ed @ 1w <t ofienn, TH™ getehea 1 gvAl i Uk g g@en § ged g o i,
Ui, SEqfashtor 3t FaTg IMfie B 81 Tcish 9 & STHBTHS shelst & STUR IS Hd, H el 309 &
SNF T I NG H $HT UEHH AT AT 7, SFvedl, THATR R S9Rd, deEd, STeHISl, "ol 3
wyat it TECiaTe gatfas sfaffas 21 THeEeT 1 5 THEiansE ) i g 2 Sife 39 % I A
HATTYeh TR T TEqfd ®9 7, THEV o =, 9 % J9 I THG 58 g 790 6 A1 qoeiee g
HicTed! adt § fegeart § it 72 oft qfk a7 TEha HETRISd TAgaY AT ST Hek, SAfRAl THiiensl §
TEiga & fafis s w1 g0 ° anE fedi 9 vesia i U g & SR HEE R ST @ weg AT
S8 FB M W I8 T4 P TH HIE T IAdl 8l G0 I S GNH T % I § I dled Hl Hehal
e, TR SR MEl # IcHd ARG FAAET a1 2| THAA § T SR T&E0 F HeA g G B AU
foporn ST @ ofR ToH R, w3 9wl o fi9 Hargl F UH gEen A 7| THellen § Yo ¥ &
“HIcHY ! A hAaTel TRl S Teh QU Foarfier s8 e ot gar 21 Ararsii <l 9o & TRH 3R
9T o o forg smfa feren Stran 21 wwefien snfa, o a1 sy W we feeu femr ol sendl ot s @y
At 21 aft arHaTE gEte o wEe s, YR FH, Jad §9H, T el e S Hefa Bramsmar
H T Thd qls | " 2 sryen fafte yftemet § it e €1 aenfy, @ difsn & fawm, famiy w=
SAifasm |9 AT MG % FROT THCEsT & ¥l § FH AT W 2 | A S HYGET A TF qY qH
I 1ot gee i w1 @l @ g

The majority of the Ramlilas recount episodes from ‘Ramcharitmanas’ through performances

lasting
(A) 10 days only
(B)  10-12 days only
(C) 30 days only
(D) 365 days only
Choose the correct answer from the options given below :
(1) (A)and (B) only
(2) (A)and (C) only
(3) (C)and (D) only
(4) (A)and (D) only
SAferFie TEeTT THEATE SR ow i e weeE W f
(4)  #=E 10 fm
(B) ¥ 10-12 FF
(C)  w=e 30 i
D) = 365
et fou ket A @ et I g
(1) e (A) S (B)
2)



Fae (A) 3 (C)
(3) F= (C) 3 (D)

(4) FE () #R (D)

1[Option ID=15197]
2[Option ID=15198]
3[Option ID=15199]
4[Option ID=15200]

Sl. No.101
QBID:651101

The master of visual theatre in India is

(1) Usha Ganguli

(2)  Rajendranath
(3) Ratan Thyam

(4) H. Kanhailal

e § qra-tmie o W Rt § 8 W 87
1) = e

(2) AT

(3) A firm

(a) T FEEE

1[Option ID=19001]
2[Option ID=19002]
3[Option ID=19003]
4[Option ID=19004]

Sl. No.102
QBID:651102
The South East Asian Theatre form ‘Wangkulit'is a

(1) Street Theatre

(2) Dance Theatre

3) Leather-Puppet Theatre
(4) Absurd Theatre

o i ofiman T fae T fefaten d § e
(1) = TeE

(2) e T

(3) =t g Ew
(4)  amd (wed) Tew

1[Option ID=19005]
2[Option ID=19006]
3[Option ID=19007]
4[Option ID=19008]

Sl. No.103
QBID:651103

Banaras is famous for

1) Jatra

(2) Khayal

(3)  Ramlila

(4)  Bhan

T Frefafaa & & fras foo afag 27
1) g

(2) ==

(3) el

(4) we

1[Option ID=19009]
2[Option ID=19010]
3[Option ID=19011]
4[Option ID=19012]

Sl. No.104
QBID:651104

The major impact of Vedie culture on Indian Society reflects on
(1) Development of Indian Philosophy

(2) Perception of a new world

3)




Rigidification of Caste System

(4) Development of Culture

ST A T AT e T e St 6 e fatat s 27
(1) e 7t =

(2) s U fava &1 yd 99

(3) Tl e F SRR

(4) st 1 Faemrm

1[Option ID=19013]
2[Option ID=19014]
3[Option ID=19015]
4[Option ID=19016]

Sl. No.105
QBID:651105

Which of the following traditional forms of performance in India use masks?

(1) Raslila

(2) Yakshagana
(3) Kathakal

(4) Seraikela Chhow

s # Treferian aRfes w=a w9 A @ R 6 @i w1 wE e e v
(1) TEEE
(2)  =zE

(3)  Fuedl
(4) HUSHET BTH

1[Option ID=19017]
2[Option ID=19018]
3[Option ID=19019]
4[Option ID=19020]

Sl. No.106
QBID:651106

The following subject area in Natyashastra deals with speech and presentation

(1)  Bharati
(2) Alamban
(3) Sambuddhi Bihana
(4) Dosas
e i fretffan # 3 9 o v i g o g w27
(1) R
(2) seEA
(3) =iz foem

3

(4) =M

1[Option ID=19021]
2[Option ID=19022]
3[Option ID=19023]
4[Option ID=19024]

Sl. No.107
QBID:651107

According to Natyashastra which one is not connected?
(1) Shringar — Bhava Rati
(2) Hasya — Bhava Hasya

(3) Karuna — Bhava Enthusiastic

(4) Raudra — Bhava Anger (Krodha)

Tz F AR et § | F5 oF T e 6 a7
(1) T — = T

(2) zr=m - v T

(3)  Fwo - ¥E IR

(4) iz —wE T

1[Option ID=19025]
2[Option ID=19026]
3[Option ID=19027]
4[Option ID=19028]

Sl. No.108
QBID:651108

Which of the following does not fall under the ‘Shruti Literature'?




o Brahmana

(2) Vedanga
(3) Upanishada
(4) Kapa

Frferfia d & = w1 gfa wife’ & siwla 7@ s 27

1) gm@m
(2) =M
(3) Iufmg
@ ™

1[Option ID=19029]
2[Option ID=19030]
3[Option ID=19031]
4[Option ID=19032]

Sl. No.109
QBID:651109

Mention the World’s Oldest Amphitheatre from the following:

(1) Ajanta
(2) Bhimbetka
(3) Altamira

(@) Sitabenga

Fferfiga # & fama &t wrefivan Fmmen & 3g@ Hiv
) g

(2) fimses

) s
(4) HiamEm

1[Option ID=19033]
2[Option ID=19034]
3[Option ID=19035]
4[Option ID=19036]

Sl. No.110
QBID:651110

Mention the selected musical instruments used in the background for the performance of
Koodiyattam

(1)  Margi and Chakyar

(2)  Kula and Tang

(3) Mizhavu

Ffeagen & Wy & fog geyfy § wam forg ST amet <4 gC amREl @ Sg Fif

1) worl =it ==
(2) Fal & 2w
(3) fimm

(4) T 3R TEE

1[Option ID=19037]
2[Option ID=19038]
3[Option ID=19039]
4[Option ID=19040]

Sl. No.111
QBID:651111

‘Ninasam Theatre Group' 1s founded by
(1) B.V. Karanth

(2) Swami Venkatadr Iyer

(3) K.V. Subbanna

4) Yamini Krishnamurthy

fme foret g 1 o Frefafaa | @ e i ot 7

(1) .4 wA
(2) i Seperdt s=r

) =t FEE W=
(4)




=t g

1[Option ID=19041]
2[Option ID=19042]
3[Option ID=19043]
4[Option ID=19044]

Sl. No.112
QBID:651112

Select one of the most popular chhow dance of Jharkhand

(1)  Karma dance

(2) Seraikela Chhow

(3) Jhumur

(4) Kathi Nach
FREE % TAETYE S 2% I § ° U w5 = i,
(1) EF(HTW

(2) Frden w1
(3) =m

(4) =@ a=
1[Option ID=19045]
2[Option ID=19046]

3[Option ID=19047]
4[Option ID=19048]

Sl. No.113
QBID:651113

Who 1s the author of ‘Pratijana Yougandharayanam™

(1) Sudraka

(2)  Vishakhdatta
(3) Bhasa
(4) Bhatta Narayana

Foeferaa @ & siom a6 e i

1) =
(2) foemE=m

(3) HH

(4) ¥ T

1[Option ID=19049]
2[Option ID=19050]
3[Option ID=19051]
4[Option ID=19052]

Sl. No.114
QBID:651114

Who 1s the director of the ‘Kallol’ theatre?
(1) Shambhu Mitra

(2)  Vijay Tendulkar

(3) Utpal Dutta

(4) P.L. Deshpandey
et oz 1 e A 7
1) wyfm
(2) oo g
(3) 3mE

(@) ot ue. FEawE

1[Option ID=19053]
2[Option ID=19054]
3[Option ID=19055]
4[Option ID=19056]

Sl. No.115
QBID:651115

Who wrote the Caucasian Chalkcirele?
(1) Bertolt Brecht
(2) Pirandello
(3) Moliere
(%) Chekov
FRIE TREE i = R




(1) =@ =

(3) witeraw

(4) “@a

1[Option ID=19057]
2[Option ID=19058]
3[Option ID=19059]
4[Option ID=19060]

Sl. No.116
QBID:651116

Tagore's drama ‘Dakghar’ belongs to which 1sm?

(1) Realism
2) Expressionism

(3) Symbolism

(4) Naturalism

iR e s ffe § & e am & i e
(1) a9

(2) wifisiamEr

(3)  wdEam

(4) TR

1[Option ID=19061]
2[Option ID=19062]
3[Option ID=19063]
4[Option ID=19064]

Sl. No.117
QBID:651117

According to Natyashastra, the ‘Mime’ does not fall under which category of Abhinaya?
(1) Angika
(2)  Vachika

(3) Sattvika

(4)  Aharya

T % FER WEH () A i e § 9 R SR § w6 e e
(1) ==

(2) ==

(3) e

(4) ¥

1[Option ID=19065]
2[Option ID=19066]
3[Option ID=19067]
4[Option ID=19068]

Sl. No.118
QBID:651118

Pick the odd one out
(1) Dristi Bheda
(2) Griva Bheda

(3) Shiro Bheda

(4) Aharya Bheda

Frfafaa & & fam =1 9fw -
) i
(2) FaE
(3) FriaE
(4) TEH i

1[Option ID=19069]
2[Option ID=19070]
3[Option ID=19071]
4[Option ID=19072]

Sl. No.119
QBID:651119

‘August Strindburg’ belongs to which country?

(1)

Germany




(2) Holand

Sweden

3)
(4) ltaly
e fegzel Frafafaa 4 9 frm 29 3 geftm 27

(1) =
(2) wwive

1[Option ID=19073]
2[Option ID=19074]
3[Option ID=19075]
4[Option ID=19076]

Sl. No.120
QBID:651120

Who wrote the ‘Karnabharanam'?

(1) Kalidasa

(2)  Bhasa
(3) Sudraka

(4) Bhavabhuti
‘] e’ i T e i

1) wfEE

(2) wE

3) T

(4) wfa

1[Option ID=19077]
2[Option ID=19078]
3[Option ID=19079]
4[Option ID=19080]

Sl. No.121
QBID:651121

Sanskrit play writer

(A) Kalidasa
(B) Bhadrak
(C)  Sudrak

(D) Bhavabhuti

Choose the correct answer from the options given below :
(1)  (A) and (B) only
@ (A, (B)and (C) orly
(3) (A}, (C) and (D) only

(4) (A) and (D) only

T A
(A) wfeEE
B) WEE
© =
D) el

ﬁﬁt{ﬂqﬁﬁﬁﬁ@ﬁméﬁﬁq:
(1)  FAE (A) 3R (B)

(2) %= (4), (B) 3 (0)

(3) FFa (A), (C) 37 (D)

(4)  Fa (A) R (D)

1[Option ID=19081]
2[Option ID=19082]
3[Option ID=19083]
4[Option ID=19084]

Sl. No.122
QBID:651122




‘Which of the following dramas are written by K.N. Panikkar?

(A) Ghasiram Kotwal
(B) Hai Badan

(C) Karim Kutty

(D) Koyma

Choose the most appropriate answer from the options given below :
(1)  (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A)and (D) only

Faferfian 3 # e el F S % o afmE 27

(A) =TT FaEe

(By  #FEEA
(C)  =m FE
(D) =

= fou o oot & H weE 39w I w1 9 i

(1) =4 (A) 3 (B)

(2) #F== (B) 3t (O)

(3)  aa (C) & (D)

(4) e (A) 3 (D)

1[Option ID=19085]
2[Option ID=19086]
3[Option ID=19087]
4[Option ID=19088]

Sl. No.123
QBID:651123

Popular folk form of the Purulia district of West Bengal

(A) Chhou

(B) Jhumur
(C) Natua

(D) Gambhira

Choose the most appropriate answer from the options given below :

(1) (A)and (B) only
(2) (A)and (D) only

(3)  (A). (B) and (C) only
(4) (A). (B) and (D) only
afgew et % gefer Tt 6 diwia e de 0

Ay =
(B) ER
€y Tgenm
D)y TR

i T o femRedi 3 @ e I I S G
M) 3w (a) o (B)
(2)  Fa=w (A) (D)

(3) F=(A). (B) 5k (0)

(4)  3=w (A), (B) 3 (D)

1[Option ID=19089]
2[Option ID=19090]
3[Option ID=19091]
4[Option ID=19092]

Sl. No.124
QBID:651124




George Bernard Shaw’s play

(A) Antegone

(B) Machbeth

(C) Arms and the Man
(D) Pygmalion

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A)and (D)only
(3) (A). (B) and (C) only
(4) (C)and (D) only

ST SIS 0 e

EVIR ]

(B) fe=aEy

(C) s Uz

(D) fofeR

At o o femeat & @ @ I W S i

(1) FA (A) 3 (B)
(2) & (A) ¥R (D)
(3)  Faa (A), (B) 31 (0)

(4)  F=a (C) ¥k (D)

1[Option ID=19093]
2[Option ID=19094]
3[Option ID=19095]
4[Option ID=19096]

Sl. No.125
QBID:651125

Peter Brook has directed which of the following?

(A) King John
(B) Othelo

() Rather Rashi
(D) Tiner Talwar

Choose the correct answer from the options given below :

1) (A) and (D) only
(2) (B)and (C) only

(3)  (A) and (B) only

(4) (A) and (C) only

e % 3 Frefataa 4 & - = fdew & ge

(A)  fEEE
By i

€y i
(D) Z aEEn

= fou o oot # 9 wE I w1 99 A
(1) Faw (A) 7 (D)

(2) = (B) 3R (C)

(3) = (A) ¥ (B)

(4) A (A) =R (0)

1[Option ID=19097]
2[Option ID=19098]
3[Option ID=19099]
4[Option ID=19100]

Sl. No.126
QBID:651126




Which of the following is not correct?

(A) Govardhan Panchal — Kooth Balam

(B) Mrinalini Sarabhai — Folk Tradition
(C) Dharamvir Bharati — Adhe Adhure

(D) Dr. V. Raghavan — Art Critic

Choose the correct answer from the options given below :
(1) (A) and (C) only

) (B) and (C) only

(3) (A). (B) and (D) only

(4) (A) and (D) only

fafarfia & & #9-29 & 27

(A) i = - FE AW
(B)  gomfert amra - & T
(C) e st — o st
Dy = T B kit
i fow o faedi A & |/ 3 w1 99 i

(1) F= (A) 3 (0)

(2)  F=m (B) 3 (0)
(3) F= (A), (B) i (D)

(a) FEE (A) 3 (D)

1[Option ID=19101]
2[Option ID=19102]
3[Option ID=19103]
4[Option ID=19104]

Sl. No.127
QBID:651127

The drama composed by Henric Ibsen is

(A) Hedda Gabler

(B)  Ghost

(C)  An enemy of the people
(D) Othelo

Choose the correct answer from the options given below :
(1) (A)and (B) only

(2) (A), (B) and (D) only

(3)  (A). (B) and (C) only

(4) (B) and (D) only

& g g T e

(A) TS T

(B) =@

(€)@ ufEl T 7 figE

(D) st

rar Tau u feeredi # & W 3 W S i

(1) Fae (A) 3 (B)

(2) & (4), (B) ¥R (D)
(3) FE(A), (B) 3 (C)

@ e (B) i (D)

1[Option ID=19105]
2[Option ID=19106]
3[Option ID=19107]
4[Option ID=19108]

Sl. No.128
QBID:651128




Famous professional stage actress in Bengal

(A) Binodini Dasi
(B) Kusumkumari
(C) Prova Debi
(D) Suchitra Sen

Choose the correct answer from the options given below :
(1)  (A) and (C) only

(2)  (A), (B) and (C) only

3)  (A)yand (D) only

(4)  (B)and (D) only

a1 Rig YEEL o e

(A)  Forfe zwd

(B)  FEEA

()  wE

(D) FEEE

et fam o Feremet # @ wE I W =wa Fifa

(1) A (A) 3 (C)
(@) == (), (B) 1 (0)
(3)  Fma (A) 31 (D)

(4) = (B) S (D)

1[Option ID=19109]
2[Option ID=19110]
3[Option ID=19111]
4[Option ID=19112]

Sl. No.129
QBID:651129
Famous auditoriums in India

(A) Prithvi Theatre in Mumbai
(B) Academy of Fine Arts in Kolkata
() Shri Ram Centre for Performing Arts in New Delhi

(1)) Kamani Auditorium in Jharkhand

Choose the ecorrect answer from the options given below :

(1) (A)and (D) only

(2) (A). (B) and (C) only

(3) (B)and (D) only

(4)  (A). (B) and (D) only

Wi % wftg wifsaiam .

&) v o, g

(B)  UhgH S WIgT 12, et

(C)  ofvm e i e sl , 98 B
(D) A sfsiom, arEs

drer fou o et 4 @ @t I o = i
(1) FEE (A) (D)

(2) FE (A), (B) #1 (C)
(3) Faa (B) # (D)

(4)  F=a (A), (B) 51 (D)

1[Option ID=19113]
2[Option ID=19114]
3[Option ID=19115]
4[Option ID=19116]

Sl. No.130
QBID:651130




Select the Institutes taught drama as a subject

(A) Rabindra Bharati University
(B) Banaras Hindu University
(C) National School of Drama
(D) Visva Bharati University

Choose the most appropriate answer from the options given below :
(1) (A) and (C) only

(2) (A). (C) and (D) only

(3) (A)and (D) only

(4) (A) and (B) only

3 HEAHT F G 7 A1eF ) 0 9 % w9 § gEEn o #
(A) g e frrafaemem

B)  wmE fog Fvatemes

(©) i e frmem

(D) Tava st Rrvatmem

i o o fawedt # & i Ige I H T HifC

Q) = (A) i (0)

(2)  F=w (A), (C) 3 (D)
(3) A () #R (D)

(4) e (A) @il (B)

1[Option ID=19117]
2[Option ID=19118]
3[Option ID=19119]
4[Option ID=19120]

Sl. No.131
QBID:651131
Who among the following is/are a Padma Awardee mime Artist/Artists?

(A) Rudra Prasad Sengupta
(B) Jogesh Dutta
() Marshal Marsho

(D) Niranjan Goswami
Choose the most appropriate answer from the options given below :
(1) (A) and (C) only

(2) (D)only
(3) (A), (B) and (D) only
(4)  (B), (C) and (D) only
Fferfiga d & FM-F Y50 FEEHR 9TH Yo S Felhr F

(A) w7 IR T

(B) Wi A
(Cy  wrte wEi
(D) e i

i o o famedt # & e 999 IW H 9 Hifa

(1) Fam (A) #7(C)
(2) == (D)
(3) == (A), (B) 3R (D)

F94 (B), (C) 3 (D,
@ (B), (C) 3 (D)

1[Option ID=19121]
2[Option ID=19122]
3[Option ID=19123]
4[Option ID=19124]

Sl. No.132
QBID:651132

(B), (C) and (D) only

1)




and (D) only

(2) (B)and(C)only
(3) (A). (B) and (D) only

(4) (A).(C) and (D) only

= & Witg o e

[ENI.
(B)  werfen
(C) wmEE
(D) e

i fau mu Fmedi 6§ G IugT I 1 S i
(1) ¥4 (A) 3 (D)

(2) #= (B) 3R (C)

(3) F=€ (), (B) 3 (D)

(a) 9 (A), (C) 3 (D)

1[Option ID=19125]
2[Option ID=19126]
3[Option ID=19127]
4[Option ID=19128]

Sl. No.133
QBID:651133

Match List I with List I1:

List I List IT
(A) Ramman (Il Operative Ballads
(B) Powada (I) Ramayana
(C) Villu Pattu (I Lord Krishna
(D) Krishna nattam (IV) Bhumiyal Devta

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(IV), (C)-(T), (D)-(I1T)
(2)  (A)ILI), (B)-(IV), (C)-(1L), (D)-(D)
(3)  (A)IV). (B)-(D), (C)-(IT), (D)-(I1T)
(4)  (A)-(ID), (B)-(D, (C)-(IV), (D)-(I1T)
e 1% @19 At 11 = T it

e8| -1
4) () e g
(B) T () T
(© g () = =
(D) o ArgH (IV) wftena 2
ot fom o, forrett & & el 37 o = i

(@) (A)-(ID), (B)-(IV). (C)-(I), (D)-(IIT)
(2) (A, (B)-(IV), (O)-(1D), (D)-(T)

(3) (A)-(1V), (B)-(D), (C)-(11), (D)-(11T)
(4) (A0, (B)-D), (O)-AV), (D)-(I1D)

1[Option ID=19129]
2[Option ID=19130]
3[Option ID=19131]
4[Option ID=19132]

Sl. No.134
QBID:651134




Match List I with List IT :

List I List 1T
(A) Paintings () Three dimensional form
(B) Architecture (I) Spatio Temporal Art
(C) Sculpture (ITT) Colours and Lines
(D) Theatre (IV) Tekton

Choose the correct answer from the options given below :
@) (A1), (B)-(I1L), (C)-(IV), (D)-(1)

(2)  (A)ID, (B)-(IV). (C)-(I). (D)-(I1D)
(3) (A)-(IID, (B)-(IV). (C)-(1), (D)-(1D)

(4)  (A)-(IV), (B)-(D, (C)-(ID), (D)-(I1D)

e % w9 w11 = faerns <hifs)

il ERii|
(&) faswrt @ Tremrh e
(B) drEqgehen ()  wif e e
(C) wfwm (L) T i T
(D) farr (V) Zwia
T fRu e frred 0 & &l 39 o = i

(1) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(T)
2) (A)-ID), (B)-(IV), (C)-D), (D)-(I1D

(3) ()11, (B)-(IV), (C)-(D), (D)-(11)
(4) A-IV). (B)-(D), (C)-(ID), (D)-(IDy

1[Option ID=19133]
2[Option ID=19134]
3[Option ID=19135]
4[Option ID=19136]

Sl. No.135
QBID:651135

Match List I with List IT :
List I List IT
(A)  Shifting Point () Theodore Komsorjevsky
(B) Divine Comedy (Il) Alfred Jarry
(C) UB.U. Ray (III) Dante

(D) The theatre and a chilling civilisation  (IV) Peter Brook
Choose the correct answer from the options given below :
(1) (A)-(IV), (B)«(IID), (C)-(IT), (D)-(I)
(2) (A)-D, (B)-(I). (C)-(IV), (D)-(I1T)

(3)  (A)-(11D), (B)-(LV), (C)-(I), (D)-(11)

(4)  (A)(IV), (B)-(IID), (C)-(I). (D)-(IT)

et 1% wme a1 o T <hifs)

-1 g1
() faw = () TorrsR FrateE
(B) feam windt (D) ebs
© 331 (111 =4
(D) = fozr wws v fafem fafaemssem (V) b= 7=
et o o Foremeat A & @Y ST W = A

(1) (A)-(IV), (B)-(IL), (C)-(IL), (D)-(1)
(2)  (A)-ID, (B)-D. (C)-AV). (D)-(ID

(3) (AL, (B)-(V), (C)-(D), (D)-(IT)

(4) (A)-(IV), (B)-(TID), (C)-(T), (D)-(IT)

1[Option ID=19137]
2[Option ID=19138]
3[Option ID=19139]
4[Option ID=19140]

Sl. No.136
QBID:651136




Mateh List I with List I1:

(1) (AID, (B)-(Dy, (C)-(IV). (D)-I1D)
(2)  (A)-(IV), (B)-(III), (C)-(), (D)-(ID)
(3)  (A)-(D), (B)-(ID), (C)-(II), (D)-(IV)
(4) (A)-(ID), (B)-(IV), (C)-(IID), (D)-(T)

1[Option ID=19145]
2[Option ID=19146]
3[Option ID=19147]
4[Option ID=19148]

List I List IT
(A) Red Oleander () Molier
(B) The Blungler (IT) Professor
(C) Eha Kazan (ITIT) Eugene Lonesco
(D) Theatre of Absurd (IV) Wild River
Choose the correct answer from the options given below :
) (A)-D, (B)-1ID, (O)-IV), (D)D)
(2)  (A)ID), (B)-(D, (C)-(IV). (D)-(I1T)
(3)  (AHIV), (B)-(III), (C)-(ID), (D)-(T)
(4) (A, (B)-(IV), (O)-(T), (-1
gt 1 % Ty gt 11 = fem Fif
a1 w11
() T3 st ) wfm
(B) 7=m () wrEE
(C) Ui F99 (IIT) 7= FRER
(D) Forvge i wes (IV) =mes
o fo o fermet # @ @l 3w = i
(1) (A)-(IL), (B)-(ILD), (C)-(IV), (D)-(1)
(2) (A)ID, (B)-(D, (C)-(IV), (D)-(IID)
(3) (A)-(IV). (B)-(IID), (C)-(ID), (D)-(D)
(a) (A, (B)-(V), (C)-(I), (D)-(IT)
1[Option ID=19141]
2[Option ID=19142]
3[Option ID=19143]
4[Option ID=19144]
Sl. No.137
QBID:651137
Match List I with List IT :
List I List IT
(A) Rabindra Sadan (I) Patna
(B) Rabindra Bhavan (I) Kolkata
(C) Sangeet Natak Academi (IIT) Chennai
(D) Kalakshetra (IV) Delhi
Choose the correct answer from the options given below :
(1) (A)-(II), (B)-(D), (C)-(IV), (D)-(ITT)
(2)  (A)(IV), (B)~(I11), (C)-(I), (D)-(1T)
(3)  (A)-(D), (D)-(III), (C)-(II), (D)-(IV)
(4) (A)-(ID, (B)-AV), (O)-(II), (D)D)
g 1 % Ty 7= 11 1 fee $ifse
w1 =11
(&) o EA @ W
(B) oz W= (I)  Frerwm
(C) wifia Ao s () ==
(D) hemndm vy faeeht

Sl. No.138
QBID:651138




Choose the correct chronological sequence of play written by Rabindranath Tagore
(A) Malini

(B) Lakshmir Pariksha

(&3] Prayaschitta

(D) Mukut

Choose the correct answer from the options given below :
1) Q). (B), D). ()

(2) (B, (4). (C). D)

(3) (D)(C). B). (&)

@ (A), (B), (C), (D)

T % AR gy S g feEn T % W e g

(&) e

(B) e e

©) v

D) #AF<

i fau o forel & & wdl 3 1 w5 Fif

1) (&), (B). D). ©)
(2 (B (A), (C), D)

(3) (D), (C), (B), (A)

(@ @.B).©), D)

1[Option ID=19149]
2[Option ID=19150]
3[Option ID=19151]
4[Option ID=19152]

Sl. No.139
QBID:651139

Identify the correct sequence of age (From oldest to Youngest)
(A) Dasharatha

(B) Bibhisana

(C)  Aja

(D) Kush

(E) Satrughna

Choose the correct answer from the options given below :
(1) (A), (C), (E), (B), (D)

(2) (0). (A), (B), (E), (D)

(3) (0), (A), (E), (B), (D)

(@ D). B E), A,

1 % wE A BT TR ; (redie # e A si)

Ay 7w

(B)  farsfaor

€y =9

Dy  F=

(Ey ==

i fow amu fompedi # & &t 3w 6 @ Fifer

(1) (A), (O), (E) (B), (D)
(2) (0), (A), (B), (B), (D)
() (C). (A), (E), (B), (D)

@ D.®.E. . ©

1[Option ID=19153]
2[Option ID=19154]
3[Option ID=19155]
4[Option ID=19156]

Sl. No.140
QBID:651140




Put in the correct sequence according to the arrangement of attire in Decending order
(A) Orna

(B) Komarbandhani

(C) Lehenga

(D)  Choli

Choose the correct answer from the options given below :
@) ), B). M. ()
(2) (&), (D), (B), ()
(3)  (0), (B), (A), (D)

@ O.A),©),®

FHert (TH) = F SHER FA FATER S s | e

(A) e

(B) AL weET

(C) wwEm

@ =il

= Tau v faredi # @ wel 390 w0 = it

1) (A), (B), (D), (C)

@ @, D). ®).©)
@ (OBA,M
4 (D). O, ©.®

1[Option ID=19157]
2[Option ID=19158]
3[Option ID=19159]
4[Option ID=19160]

Sl. No.141
QBID:651141

Give the correct sequence in respect of the making of sets
(A) Model

(B) Drawing

(C) Idea

(D)  Sketch

(E) Fabrication

Choose the correct answer from the options given below :
(1) ADBCE
(2 D.ABEC
(3) CDBAE

(4) AC.D.E.B

a=ga fmto & Hed # @ w Fay

(A)  wfEg (sfE)

B) v (gE)

() fEm

D) it (wFE)

(BE)  Thfsrmee

i fow o forredl # 4 o 3m 1 = A

(1) ADBCE
(2) D,ABEC
B3) ¢.D.BAE
(4) A CDEB

1[Option ID=19161]
2[Option ID=19162]
3[Option ID=19163]
4[Option ID=19164]

Sl. No.142
QBID:651142




Write the names of character of ‘Shakuntala’ drama
(A) Kanwa Muni

(B) Gautami

(C) Harishchandra

(D) Bimbisara

Choose the correct answer from the options given below :

(1) (A)and (C) only

@ (A) and (B) only
(3) (B)and (D) only

(O] (C) and (D) only

EF TEAAT AT ST S R AW e

4  wF g

(B) it

€y iz

(D) TafEmm

A o o foemedl @ & @t 3w A i

(1) Faa (A) 3 (0)
(2) FA (A) ¥ (B)
(3)  Fa=e (B) &1 (D)
(4) F= (C) 3f (D)

1[Option ID=19165]
2[Option ID=19166]
3[Option ID=19167]
4[Option ID=19168]

Sl. No.143
QBID:651143

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : During the Ramayan and the Mahabharata period. the Kushi-Lava were

well versed with the story-telling form.

Reasons (R) : In the Natyashastra the ‘Kushi-Lava’' is a person who is described as well

versed in music and the narration of the Vedas.

In the light of the above statements, choose the most appropriate answer from the options

given below :
@ Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

e =1 e 2w T € : uk s (Assertion (A)) % w9 # feifiam # | g0 3@k %00 (Reason (R))

FEIH

AR (A) THT SRR F F G, FEE e FEar e S e w6

Fa (R) : AreFarE § fefi-ed uk 9E @ S @i S S avia w0 8§ s wei o S
= F afif 1

I F2A F T §, F= o T fed § | ae 3w I w9 fii |

M) () s (R) 7 = # 5 (R), (A) 1 = = &

(2) (A) ¥ (R) = =6 &, S (R), (A) Fif = =men 7 ¢

3) A TET B, =T (R == 98 2

(4) (A=A T 7, @fF (R) 76 2

1[Option ID=19169]
2[Option ID=19170]
3[Option ID=19171]
4[Option ID=19172]

Sl. No.144
QBID:651144




Given below are two statements :

Statement [ : Many of Shakespeare's plays were first performed at the Globe Theatre.

Statement IT : Sophocles is the Father of Tragedy in Greek Theatre.
In the light of the above statements, choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement 11 are false
(3)  Statement [ is true but Statement II is false

(4) Statement I is false but Statement II is true
A &t e o g

FoA1:  FEEER S AEE F A TEe e e g |
w1 TrEEE g o & T F =

IIF FF F A 5, G By el § @ 9f 39w = Fifw
1) Wlm’l’(nﬁ'ﬂﬂ%
(2)  w9a | 30 [1 2] sme &

(3) F=[ 19 7, oA #9711 59 2

(a) 13 R, W o Lae R

1[Option ID=19173]
2[Option ID=19174]
3[Option ID=19175]
4[Option ID=19176]

Sl. No.145
QBID:651145

Given below are two statements :

Statement [ : ‘Andha Yug is written by eminent theatre personality Dharamvir
Bharati.
Statement IT : Manoj Mitra has written ‘Sajano Bagan'.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement 11 is true

Fr 2 Fom Fmm E
w1 ST F o= A e e adER et 3 AR
FoA I1: 7 e 3w s = R
e ot ¥ el §, A% oy o et 3 % = A
@ o 1w 13 T
(2 o 15 113 s 3
(3) o 1w &, fea w11 sme §
(4)  #wa [ smed 2, oifed w7 e 2

1[Option ID=19177]
2[Option ID=19178]
3[Option ID=19179]
4[Option ID=19180]

Sl. No.146
QBID:651146




Read the following paragraph and answer the five questions that follow :(148-150)

Plot : As the name suggests, Charandas Chor, written by Rajasthani writer Vijavdan Detha
and adapted into a play by legendary Indian theatre personality Habib Tanvir in 1975, 1s the
story of a thief named Charandas. He is a habitual thief who is on the run from the police
after stealing a gold plate. In a bid to outsmart the cops, Charandas enters a Guruji's ashram
and expresses his desire to become the latter’s disciple. Guruji agrees, but on the condition
that Charandas takes a vow to always speak the truth. In jest, Charandas takes four vows —
not to eat from a golden plate, not to ride an elephant in a convoy procession, never to marry
a queen and become a king of a country. Soon he gets arrested for stealing 10 gold coins from
the royal treasury. He confesses to the thievery but says he didn't steal 10 coins but five. Will
Charandas be able to maintain the vows he took in front of Guruji?

Review : Considering the original story is rooted in folk traditions of Rajasthan, ‘Udaan
Performing Arts’ offering of Habib's cult was kept as the legendary theatre personality had
visualized it — a musical. There were a lot of songs and dances incorporated to tell the story
and it required the cast to step outside of their comfort zones and break into a dance or song
whenever and wherever needed. And they did that to the best of their abilities. Suraj
Meshram as Charandas, Rajiv Kumar as Guruji, Ankit Kohli and Rohit Chauhan in multiple
characters along with the rest of the cast whirled, jived, showed off thumkas and latke-jhatke
and did everything else in their power to uphold the folky essence of this musical comedy-
drama. Director Saurav Gharipurikar did a neat job.

Tr=fefga e =1 afge #ii f2o T g e At (146-150):

TSI <@ [aeETH 01 R [AiEd it 92 i (9422 =aided 7609 aqaX grT 1975 § 91eF % &9
T RN AT T SR SROMT 9 N | AfAd # A AEE T S0 wEE 2| 9R e =R 2 oA
TF TF F e T F AT U J G 5 2| eEae #9631 F 6 S e F s § g
e i Oias o | HHR A S0EE A A ] W § O w@E, w8 wed fgEd @ e, oA
Fofl ot = e s R 2w e 2A-3 = afae o) Wes # e weE 1 10 96 6 Tl
o 0 =% TR BT S |0 SR S S 6 e 6 58 10 T R wiew ue g B | =
O TS F THe ot T8 Tiaa A wer # § and wm e

TR F T TRl @ agRd wios weel w faEm W ofm, we F oAmm A owEe 5Se
TR i AEE {iRe e % B9 A UIE 50 S TN W Herl | wEE F w6 %
WA T M SR e wine R T Y Wi s o e o T g A e = e g g
& T ST e S W o el S A g g e TR | i sEe s A # aaim
= B SE TR SEE k= H gremgm, T 4 = A wdta TEn, @fea Feed s itz e 3
+2 afcdl # Ty FEz & @ g, -, gEF A deh-geh TEEE [ St g driians FEEi-gmE
F WF d A A e S i 5 Ao 98 e Fw e e aee et 3 el
EapRezl

The central character of this theatre is a

(1) Thief
(2)  Actor
(3) Writer
(4) Dancer
50 il w1 S S 8
(1) =’
(2) sfiFm
(3) wEw
(4)

1[Option ID=19181]
2[Option ID=19182]
3[Option ID=19183]
4[Option ID=19184]

Sl. No.147
QBID:651147




Read the following paragraph and answer the five questions that follow :(148-150)

Plot : As the name suggests, Charandas Chor, written by Rajasthani writer Vijavdan Detha
and adapted into a play by legendary Indian theatre personality Habib Tanvir in 1975, 1s the
story of a thief named Charandas. He is a habitual thief who is on the run from the police
after stealing a gold plate. In a bid to outsmart the cops, Charandas enters a Guruji's ashram
and expresses his desire to become the latter’s disciple. Guruji agrees, but on the condition
that Charandas takes a vow to always speak the truth. In jest, Charandas takes four vows —
not to eat from a golden plate, not to ride an elephant in a convoy procession, never to marry
a queen and become a king of a country. Soon he gets arrested for stealing 10 gold coins from
the royal treasury. He confesses to the thievery but says he didn't steal 10 coins but five. Will
Charandas be able to maintain the vows he took in front of Guruji?

Review : Considering the original story is rooted in folk traditions of Rajasthan, ‘Udaan
Performing Arts’ offering of Habib's cult was kept as the legendary theatre personality had
visualized it — a musical. There were a lot of songs and dances incorporated to tell the story
and it required the cast to step outside of their comfort zones and break into a dance or song
whenever and wherever needed. And they did that to the best of their abilities. Suraj
Meshram as Charandas, Rajiv Kumar as Guruji, Ankit Kohli and Rohit Chauhan in multiple
characters along with the rest of the cast whirled, jived, showed off thumkas and latke-jhatke
and did everything else in their power to uphold the folky essence of this musical comedy-
drama. Director Saurav Gharipurikar did a neat job.

Frefefiga T 1 uten 7R fw T weE w7 s At (146-150):

TAEAHI wgF faEeE s g faiEa it 9sm andE e st e i g 1975 | A # s
T RN AT T SR SROMT 9 N | AfAd # A AEE T S0 wEE 2| 9R e =R 2 oA
T A F = T T AT I J AT E | Iean A G F e S T F e § T
e i Oias o | HHR A S0EE A A ] W § O w@E, w8 wed fgEd @ e, oA
Fufl o T F R TRE S T B3 =0 W | wen 2 9 W A 10 7 6 e T
o 0 =% TR BT S |0 SR S S 6 e 6 58 10 T R wiew ue g B | =
O TS F THe ot T8 Tiaa A wer # § and wm e

TEE F T AR AgEE Hiow waEr W Eew w6 g, w6 oAmm fiown see

TR i AEE {iRe e % B9 A UIE 50 S TN W Herl | wEE F w6 %
e A A i g e g i s o st o ot § e o s g -afn
& T ST e S W o el S A g g e TR | i sEe s A # aaim
= B SE TR SEE k= H gremgm, T 4 = A wdta TEn, @fea Feed s itz e 3
+2 afcdl # Ty FEz & @ g, -, gEF A deh-geh TEEE [ St g driians FEEi-gmE
F WF d A A e S i 5 Ao 98 e Fw e e aee et 3 el
EapRezl

Charandas stole :
(1) Heart
(2)  Gold Plate

(3) Ten gold coins

(4) Money
ST F g
[E
(2)  =H e
@ 78 w0 % R
(4) e

1[Option ID=19185]
2[Option ID=19186]
3[Option ID=19187]
4[Option ID=19188]

Sl. No.148
QBID:651148




Read the following paragraph and answer the five questions that follow :(148-150)

Plot : As the name suggests, Charandas Chor, written by Rajasthani writer Vijavdan Detha
and adapted into a play by legendary Indian theatre personality Habib Tanvir in 1975, 1s the
story of a thief named Charandas. He is a habitual thief who is on the run from the police
after stealing a gold plate. In a bid to outsmart the cops, Charandas enters a Guruji's ashram
and expresses his desire to become the latter’s disciple. Guruji agrees, but on the condition
that Charandas takes a vow to always speak the truth. In jest, Charandas takes four vows —
not to eat from a golden plate, not to ride an elephant in a convoy procession, never to marry
a queen and become a king of a country. Soon he gets arrested for stealing 10 gold coins from
the royal treasury. He confesses to the thievery but says he didn't steal 10 coins but five. Will
Charandas be able to maintain the vows he took in front of Guruji?

Review : Considering the original story is rooted in folk traditions of Rajasthan, ‘Udaan
Performing Arts’ offering of Habib's cult was kept as the legendary theatre personality had
visualized it — a musical. There were a lot of songs and dances incorporated to tell the story
and it required the cast to step outside of their comfort zones and break into a dance or song
whenever and wherever needed. And they did that to the best of their abilities. Suraj
Meshram as Charandas, Rajiv Kumar as Guruji, Ankit Kohli and Rohit Chauhan in multiple
characters along with the rest of the cast whirled, jived, showed off thumkas and latke-jhatke
and did everything else in their power to uphold the folky essence of this musical comedy-
drama. Director Saurav Gharipurikar did a neat job.

Tr=tteAtga T 1 aige A T T e e At (146-150):

TS #EF [EETE 91 R [AEa A HEE A (9 s weie aqEl gry 1975 § AE # B
T RN AT T SR SROET 9 A H AfAd § O AEE T = R REE 2| AR er AR R A
o HiH I W S AT O # O R B | T A 44 6 o s el % s W e
wTe = WA | W O A AW A W WA wE, e 6 e w6 wen, T
Fofl ot 7w s R 2w e SA-3 = afan o) Wes # e weE 1 10 96 6 e e
T =% TR B FEA A6 SR S S 6 e 76 98 10 T R wiew uie g B |
IR TSl & e ot w8 afaan # wer # 6 and 2 e

T EE AR ¥ agnd it el @ fEm e o wfe ¥ ammm Aowge s=e
TRTRTAZE i AEE [UEe SEhed % B9 A UgE 50 S TN W Herl | wEE F w6 %
WA T M SR e wine R T Y Wi s o e o T g A e = e g g
& T ST e S W o el S A g g e TR | i sEe s A # aaim
= B SE TR SEE k= H gremgm, T 4 = A wdta TEn, @fea Feed s itz e 3
+2 afcdl # Ty FEz & @ g, -, gEF A deh-geh TEEE [ St g driians FEEi-gmE
F WF d A A e S i 5 Ao 98 e Fw e e aee et 3 el
EapRezl

Who is the pioneer author of Charandas Chor?

(1) Sambhu Mitra
(2) Ratan Thigam
(3) Habib Tanvir

(4) Sishir Bhaduri

S = % s e §

) s
(2) T fam
(3) = AR
(4) fufew wigdt

1[Option ID=19189]
2[Option ID=19190]
3[Option ID=19191]
4[Option ID=19192]

Sl. No.149
QBID:651149



Read the following paragraph and answer the five questions that follow :(148-150)

Plot : As the name suggests, Charandas Chor, written by Rajasthani writer Vijavdan Detha
and adapted into a play by legendary Indian theatre personality Habib Tanvir in 1975, 1s the
story of a thief named Charandas. He is a habitual thief who is on the run from the police
after stealing a gold plate. In a bid to outsmart the cops, Charandas enters a Guruji's ashram
and expresses his desire to become the latter’s disciple. Guruji agrees, but on the condition
that Charandas takes a vow to always speak the truth. In jest, Charandas takes four vows —
not to eat from a golden plate, not to ride an elephant in a convoy procession, never to marry
a queen and become a king of a country. Soon he gets arrested for stealing 10 gold coins from
the royal treasury. He confesses to the thievery but says he didn't steal 10 coins but five. Will
Charandas be able to maintain the vows he took in front of Guruji?

Review : Considering the original story is rooted in folk traditions of Rajasthan, ‘Udaan
Performing Arts’ offering of Habib's cult was kept as the legendary theatre personality had
visualized it — a musical. There were a lot of songs and dances incorporated to tell the story
and it required the cast to step outside of their comfort zones and break into a dance or song
whenever and wherever needed. And they did that to the best of their abilities. Suraj
Meshram as Charandas, Rajiv Kumar as Guruji, Ankit Kohli and Rohit Chauhan in multiple
characters along with the rest of the cast whirled, jived, showed off thumkas and latke-jhatke
and did everything else in their power to uphold the folky essence of this musical comedy-
drama. Director Saurav Gharipurikar did a neat job.

Tr=tteAtga T 1 aige A T T e e At (146-150):

TS #EF [EETE 91 R [AEa A HEE A (9 s weie aqEl gry 1975 § AE # B
T RN AT T SR SROET 9 A H AfAd § O AEE T = R REE 2| AR er AR R A
o HiH I W S AT O # O R B | T A 44 6 o s el % s W e
wTe = WA | W O A AW A W WA wE, e 6 e w6 wen, T
Fofl ot 7w s R 2w e SA-3 = afan o) Wes # e weE 1 10 96 6 e e
T =% TR B FEA A6 SR S S 6 e 76 98 10 T R wiew uie g B |
IR TSl & e ot w8 afaan # wer # 6 and 2 e

T EE AR ¥ agnd it el @ fEm e o wfe ¥ ammm Aowge s=e
TRTRTAZE i AEE [UEe SEhed % B9 A UgE 50 S TN W Herl | wEE F w6 %
WA T M SR e wine R T Y Wi s o e o T g A e = e g g
& T ST e S W o el S A g g e TR | i sEe s A # aaim
= B SE TR SEE k= H gremgm, T 4 = A wdta TEn, @fea Feed s itz e 3
+2 afcdl # Ty FEz & @ g, -, gEF A deh-geh TEEE [ St g driians FEEi-gmE
F WF d A A e S i 5 Ao 98 e Fw e e aee et 3 el
EapRezl

Director of this above theatre is
(1)  Suraj Meshram

(2) Ankit Kohil

(3)  Habib Tanvir

(4) Saurav Gharipurikar

Tt T & T 8
(1) g Ha=
() sifra wifem
(3) wEE FER

(4) e miigfi

1[Option ID=19193]
2[Option ID=19194]
3[Option ID=19195]
4[Option ID=19196]

Sl. No.150
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Read the following paragraph and answer the five questions that follow :(148-150)

Plot : As the name suggests, Charandas Chor, written by Rajasthani writer Vijavdan Detha
and adapted into a play by legendary Indian theatre personality Habib Tanvir in 1975, 1s the
story of a thief named Charandas. He is a habitual thief who is on the run from the police
after stealing a gold plate. In a bid to outsmart the cops, Charandas enters a Guruji's ashram
and expresses his desire to become the latter’s disciple. Guruji agrees, but on the condition
that Charandas takes a vow to always speak the truth. In jest, Charandas takes four vows —
not to eat from a golden plate, not to ride an elephant in a convoy procession, never to marry
a queen and become a king of a country. Soon he gets arrested for stealing 10 gold coins from
the royal treasury. He confesses to the thievery but says he didn't steal 10 coins but five. Will
Charandas be able to maintain the vows he took in front of Guruji?

Review : Considering the original story is rooted in folk traditions of Rajasthan, ‘Udaan
Performing Arts’ offering of Habib's cult was kept as the legendary theatre personality had
visualized it — a musical. There were a lot of songs and dances incorporated to tell the story
and it required the cast to step outside of their comfort zones and break into a dance or song
whenever and wherever needed. And they did that to the best of their abilities. Suraj
Meshram as Charandas, Rajiv Kumar as Guruji, Ankit Kohli and Rohit Chauhan in multiple
characters along with the rest of the cast whirled, jived, showed off thumkas and latke-jhatke
and did everything else in their power to uphold the folky essence of this musical comedy-
drama. Director Saurav Gharipurikar did a neat job.

TreTfeAtigs T w1 At SR T wee wwew A (146-150):
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‘Who acted in the role of Guruji?
(1) Rajiv Kumar
(2) Rohit Chauhan
(3) Ankik Kohli
(4) Suraj Meshram
T A i gt R R
(1) TEE FER
(2) Tifea ==
(3) it el

(4)  Fo wam

1[Option ID=19197]
2[Option ID=19198]
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